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Please read the instructions carefully. You are allotted
5 minutes specifically for this purpose.

Max. Marks : 720

Fug1 39 Fdwl B eaF | 92 | w5 fAne ARy vy

A 39 PE B fon fea ™ 2

1. Immediately fill the particulars on this page of the Test
Booklet with Blue / Black Ball Point Pen. Use of pencil is
strictly prohibited.

198 gRa® @ 39 US UX SrawEd fAgwer Hel/wrd dfd
9ET 99 9 @™ AR ufd @1 gam RQega afsfa g |

2. The Answer Sheet is kept inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully.

2. ITR U 39 WEI GRAFT & JT/L IWT 8 | G AUH e
gRa® @aT H1 BB FN A OISR U fEE FR
Jraenyde favor ¥ |

3. The testis of 3 hours duration.

3. wenm ®Y A 3w B

4. The Test Booklet consists of 180 questions. The maximum
marks are 720.

439 gden gRTHT H 180 YT B | AMYHAH 37w 720 % |

5.There are three parts in the question paper A, B, C
consisting of Chemistry (45), Physics (45) and Biology
(90) questions. Each question is allotted 4 (four) marks for
correct response.

5. 39 ydenm gRTST W 19 Wi A, B, C B | Rwa yd® W |
aEa fasm (45), ifds fasm (45), w@ Sfia fasm (90)
ge B 3 W gIAi & o WHM 2| g-¥Pd YA B el
SR & v 4 (@R) e FuifRa 53 ™ 2

6.Candidates will be awarded marks as stated above in
Instructions No. 5 for correct response of each question. Vs
[one fourth (-1)] marks will be deducted for indicating
incorrect response of each question. No deduction from the
total score will be made if no response is indicated for an
item in the answer sheet.

6. Rl B wAF WH I B fay SwWiT fdwT @eaT 5
$ FAdugEr 9ed 3 99 | 9@dE Uz & Tdd SR B
fad vaar w1 (-1) @we fam w@wm | Ak sw ogRasr #§
FA e & I T I W™ A @ wA uNiE | B
Ferfl T 5 IR

7.There is only one correct response for each question. Filling
up more than one response in any question will be treated
as wrong response and marks for wrong response will be
deducted accordingly as per instructions 6 above.

7030% U3 BT HId Ud B W SUX 2] UP A AP SN
9 W S TAT SR AT IR R Suked [y 6 b
IR &F de Iy T |

Filling the Top-half of the OMR :

Use only Blue/Black ball point pen only for filling the
OMR. Do not use Gel / Ink / Felt pen as it might smudge
the OMR.

ANTAJIR (OMR) B FuN-311d /W &1 G :
OMR #! 434 & fay #ad Hld/d1d dfad 99 &1 SUAW
i

8. Write your Roll no. in the boxes given at the top left corner of
your OMR with blue/black ball point pen. Also, darken the
corresponding bubbles with Blue/Black ball point pen only.
Also fill your roll no on the back side of your OMR in the
space provided (if the OMR is both side printed).

8. OMR & |a¥ U @ & H fqu wv dfes # rw=1 oA
TR N/ BT dfcd Wgee @ fafew qur g Mo ff sao
AN /BT U9 F 9T | OMR & N8 & ave M 3gar o
T3 fafay (afs OMR @1 W% &9 83 2 1).

9. Fill your Paper Code as mentioned on the Test Paper and
darken the corresponding bubble with Blue/Black ball point
pen.

9. OMR UR 94T 9ux HIs fafgy qen Guwd Ml & et/ drad
9fd U9 |/ BT BT

10. If student does not fill his/her roll no. and paper code
correctly and properly, then his/her marks will not be
displayed.

10 3fy faemeff eroAT AT FFR qAT YR BIS AL IR S
e T8 R 8 99 SHBT aRUM e faar SIE |

11.Since it is not possible to erase and correct pen filled
bubble, you are advised to be extremely careful while
darken the bubble corresponding to your answer.

1. 9% 99 @ W Y M fAem &y guRar @ T8 3
gafay g wrEgEl qde du STR @ Ml BT WY |

12.Neither try to erase / rub / scratch the option nor make the
Cross (X) mark on the option once filled. Do not scribble,
smudge, cut, tear, or wrinkle the OMR. Do not put any stray
marks or whitener anywhere on the OMR.

12fQ%®@ #1 9 fed,/9 ¥a B3 3R 7 & Taa (X) g &
W | OMR B! ®T1C 9 & ®BTS T & 7T A8 B ol HI1g f
frena @ 9% OMR Uv A8 Ay

13.If there is any discrepancy between the written data and the
bubbled data in your OMR, the bubbled data will be taken as
final.

13. Ife OMR ¥ ¥l bR @Y forer TV arfps o et fohy sriwst
H fREM & a1 el Y Siepel B1 & T8l I ST |
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NEET-2016(PHASE-1)/Code#CR,Y

Choose the correct (V') answer:
1.

In a testcross involving F, dihybrid flies, more parental- | 1.

type offspring were produced than the recombinant-type |

offspring. This indicates :

(1) Both of the characters are controlled by more than |
one gene. |

(2) Thetwo genes are located on two different |
chromosomes. I

(3) Chromosomes failed to separate during meiosis.

(4) Thetwogenes are linked and present on the same |
chromosome. |

Water soluble pigments found in plant cell vacuoles are:
(2) Xanthophylls
(4) Carotenoids

(1) Anthocyanins
(3) Chlorophylls

Which of the following pairs of hormones are not
antagonistic (having opposite effects) to each other ?

(1) Relaxin Inhibin
(2) Parathormone Calcitonin
(3) Insulin Glucagon

|
|
|
|
|
|
|
|
|
|
|
(4) Aldosterone Atrial Natriuretic Factor |
Mitochondria and chloroplast are : |
(@) semi-autonomous organelles :
(b) formed by division of pre-existing organelles and |

they contain DNA but lack protein synthesizing |

machinery. |
Which one of the following options is correct ? |
(1) Both (a)and (b) are false. |
(2) Both (a)and (b) are correct. |
(3) (b)istrue but (a)is false. |
(4) (a)istrue but (b)is false. I
Which of the following is not a feature of the plasmids ? |
(1) Single — stranded |
(2) Independent replication I
(3) Circular structure |
(4) Transferable |
A plant in your garden avoids photorespiratory losses, |
has improved water use efficiency, shows high rates of I
photosynthesis at high temperatures and has improved |
efficiency of nitrogen utilisation. In which of the following |
physiological groups would you assign this plant ? |
@ c, :
4) CAM |

(1) Nitrogen fixer
@ C,

| W) SR BT T (V) B

wierref geeRvr H, forad F, fgdax afdadl wnfie of,

JTRINTST YR &1 ARl B JoT H SHb—9bR B

HafcrT a1t Ica= g2l | 394 Hahd ferd © fob:

(1) <1 & eTort &7 F=0T o o 31feres Sl gIRT 8IaT
gl

(2) <1 S | 37T OREET TR Rerd € |

(3) SMEIRIAUT & IR ORI UAF el 8l UTy |

(4) <1 SN WEerd g 3R T B ToRIE W e 2

ey BRI B I H Sel gferd avfe 19 | 81 7

(1) vRINEEHE (2) Srefthet

(3) uofeRa (4) dfeTgs

BAMI & FfeiRed @i § A HIF—H1 4 Th—gaY &l
faRwel (foRYa wrma aret) =1EY €2

(1) Retfeas sfefaq

(2) WA EaiSsClIRE]

(3) zgferd G

4) VoA vfeaa AfeRies ar®
ATSCIBI=gdT 3R AR (ERITT®) ©

() SERARRT TS ¢ |

(b) gdadt i & favTor | 99 & 3R I9H DNA 8
2, oifpT MET—TSt omell &1 3141 BT 2 |
frforRad fadeal & I dH—3T W8T 872

|

(1) (a) 3R (b) =T & 7Taid & |
2) (a)3iR(b) Tl WET 2 |

(3) (b) | & Ifd (a) T B |
@) (a) & & ifd (b) TTerd 2 |

ferferRad § W ®I9 A1 U WIISHS & Afeetor 81 872
(1) TS bId

(2) T gfcrepdiias

(3) el R

(4) RRATATRYT I

3MUd ITE H U UISY YHT 3999 I 819 dTell 819 I
9dT 8, SIPT STl SYART I &TdT I~Id 8, 98 Iod dId
TR YHT AIATI B Iod o) Bl ST 2 IR ITD!
TSSO SYINT Bl CeTdl S—id 2 | 37T 39 UIed &l
fr=faRad & &1 fow wa SfiaT G989 G?

(1) Trsgior RaRere  (2) C,

@ G, (4) CAM
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7. Emerson’s enhancement effect and Red drop have been | 7.
instrumental in the discovery of:
(1) Oxidative phosphorylation

(2) Photophosphorylation and non-cyclic electron

transport

(3) Two photosystems operating simultaneously

(4) Photophosphorylation and cyclic electron transport
8.  Which type of tissue correctly matches with its location ? | 8.

Tissue

(1) Cuboidal epithelium

(2) Smooth muscle

(3) Areolar tissue

Location

Wall of intestine

Tendons

(4) Transitional epithelium Tip of nose

Lining of stomach

9.  When does the growth rate of a population following, 9.
the logistic model equal zero ? The logistic model is
given as dN/dt = rN(1-N/K) :

(1) when death rate is greater than birth rate.

(2) when N/K is exactly one.

(3) when N nears the carrying capacity of the habitat.

(4) when N/K equals zero.

10. Which one of the following statements is not true ?

(1) Stored pollenin liquid nitrogen can be used in the
crop breeding programmes

(2) Tapetum helps in the dehiscence of anther

(4) Pollen grains of many species cause severe

allergies

11.  Which one of the following statements is wrong ?

(1) Phycomycetes are also called algal fungi.

(2) Cyanobacteria are also called blue-green algae.

(3) Golden algae are also called desmids.

(4) Eubacteria are also called false bacteria.

12. The Avena curvatureis
(1) Ethylene
(3) GA,

13.  Which of the following structures is homologus to the | 13.

wing of a bird ?

(1) Flipper of Whale
(2) Dorsalfin of the Sh
(3) Wing of a Moth

(4) Hind limb of Rabbit

used for bioassay of:
(2) ABA
(4) 1AA

|
|
|
|
|
|
|
|
|
|
|
|
(3) Exine of pollen grains is made up of sporopollenin I
|
|
|
|
|
|
|
|
|
|
|

ark

10.

1.

12.

SHUA STHIHR0T 419 IR ol 48 (¥ $T9) fhsast it
H vqg9 I3 E 87

(1) SifRirsiea wrpiRere

(2) UPTABIEDINAT R DY geide 4 AT
(3) TT UBI T BT UH AT B HRAT

(4) TBT BRBIRTA 3R TDIT SeldeT™ STHTHA
DT HIP AU R I TS GAferd 872

Hdd Rexfar
(1) EFBR UG SITATETY 3T
() fasr ool 1= fafy
(3) URaMel Hds BT
@) uRadl Sumar Bl Cap]

AfSTRC® HiSe Bl JTARYT B gU bl wafte o1 gfg

R Y B RIER B9 BN1° dAffoiRed Afed ol fforad

FHIGHROT | g T © 1 dN/dt = iN(1-N/K) :

(1) 19 STER & 3TUeTT JoJax 3N & |

(2) & N/K & Td &1

(3) o1& N qaiard @1 eniRdr &\ar & |+ & |

(4) TEN/K I & aRIER 8 |

frrforRad # & BT B w8l 272

(1) <fad TR H SR WY, Heel o+ ArsT sl
# ygad foed o wad 2

(2) WRETPIY & e H cUicd FeRIl Rl §

(3) WITHUN HI A R B &1 Il §

(4) 98T A SR & WRETHT TR Tgoiam UaT Hd 8

fr=ferRaa # & &9 a1 FUF Tad 272

(1) BIEHHASRIEN B Stafeld wad I &el ST 8 |

2) ArFEREIRTT B fa—sRa dare i FEd 2 |

() At e o RIS A Brd T |

(4) R (GolaruRi) 1 ST SiaTe] 3 waT S 2 |

o7 ashdl @ Sig I & oIy Wad 8kl &7

(1) TR (2) ABA

(3) GA, (4) 1AA

freferRad dxaemReil # 3 diH—d1 ST el & 99 &

AT & ?

(1) B9 BT FellIR

(2) =D BT IB UG

(3) Y BT U9

(4) TR & U UG

—_
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14.

15.

16.

17.

18.

19.

20.

Blood pressure in the pulmonary artery is: I
(1) lessthan thatinthe venae cavae |
(2) same as that in the aorta |
(3) more than that in the carotid I
(4) more than thatin the pulmonary vein |
Fertilization in humans is practically feasible only if: |
(1) the sperms are transported into cervix within 48 |
hrs of release of ovum in uterus. I

(2) the sperms are transported into vagina just after |
the release of ovum in fallopian tube. |

(3) the ovum and sperms are transported |
simultaneously to ampullary . isthmic junction of |

the fallopian tube. |

(4) the ovum and sperms are transported |
simultaneously to ampullary . isthmic junction of I

the cervix. |

In meiosis crossing over is initiated at : |
|

|

|

(1) Diplotene (2) Pachytene

(3) Leptotene (4) Zygotene

Chrysophytes, Euglenoids, Dinoflagellates and slime | 17.

moulds are included in the kingdom:
(2) Monera
(4) Fungi

(1) Animalia
(3) Protista

Lack of relaxation between successive stimuli in| 18

|

|

|

|

|
sustained muscle contraction is known as : |
(1) Tonus (2) Spasm |
(3) Fatigue (4) Tetanus |
Identify the correct statement on ‘inhibin’: |
(1) Is produced by nurse cells in testes and inhibits |
the secretion of LH. I

(2) Inhibits the secretion of LH, FSH and Prolactin. |
|

(3) Isproduced by granulose cells in ovary and inhibits
the secretion of FSH. |

(4) Isproduced by granulose cells in ovary and inhibits |
the secretion of LH. |

Name the chronic respiratory disorder caused mainly | 20.

by cigarette smoking:

(1) Respiratory alkalosis I

(2) Emphysema |

(3 Asthma I

( |
|

4) Respiratory acidosis

14. HUHE g & HiaR BRR <79 8T ®

(1) AEIRRT & WA {1 811 & S99 &4 8IaT & |

(2) AT &1 KA ARTEF & WA= &I 2 |

(3) BRIfCe & AR AT Bl & SHH 37feeh BIT © |

(@) wwEE RRT & fiaR R 81T & 99w 3ifde g 2 |

Aral # fer ufehar @rasiRed: T wwg gl ofe

(1) Ui & IR YBTOLRAT BT AR THIRI H - 3T
& @ 8 @ 48 ©c & Wiax BIdT & |

(2) TR BT A B WIAR IR SV & Bl
T8 | BIS O & Sl d1< 8 |

(3) 3fSTY] 3IR YBT3 BT WIHICRYT BeAldl il &
TYeRI—S¥IHS HH TR T & 99 W 8 |

(4) 3FSTY 3R YEHIVRIT BT RIICRYT AT & VYol 3eeiieh
[TH W TP & FHI W BT B |

e favra # i faffm 5 sraver # R Brar 27

(1) feue (2) ¥etug

(3) Tgus (4) gHue

PISATRISE, JrAHIgs, SEATeulee AR faud HHal
for Shra srra & aftafera 87

(1) SIgorTd (2) R

(3) mfexe (4) Pab

TRIR SeuA! & §1 AR BT HH & BROT B drell

q“ltichudch YRl e HEANT & -
(1) <« (2) Vo (vursH)
(3) ¥HM 4) feeTg

3R & IR # " HUF UgAIIg

(1) TE quon &1 g () BIRMHTS gRT S~ Brar &
3R LH SravT &l Hefid &Rl ¢ |

(2) LH, FSH 3R ureifded wavr & dafid &l g |

(3) TR IS Pl BB HIRGRI gRT S~ &Il &
3R FSH wauT &l Hefid &l & |

4) TB ST P BB HIRGRI gRT S~ &8Il &
3R LH T T Aafid $rar 2 |

gHUM B B PROT I A~ B Tl Qredblell

TIHT—{ABR BT A4 Ty

(1) a9 R
(2) araELIa

3 oM

(4) TIFT ARG
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21.

22,

23.

24,

25.

26.

Which of the following most appropriately describes| 21.

haemophilia ?

(1) Dominant gene disorder

(2) Recessive gene disorder

(3) X-inked recessive gene disorder
(4) Chromosomal disorder

Select the correct statement:

(1) Theleaves of gymnosperms are not well adapted
to extremes of climate

heterosporous
(3) Salvinia, Ginkgo and Pinus all are gymnosperms

(4) Sequoia is one of the tallest trees

22,

Which of the following is required as inducer(s) for the | 23.

|

|

|

|

|

|

|

|

|

I

(2) Gymnosperms are both homosporous and I
|

|

|

expression of Lac operon? I
(1) lactose and galactose |
(2) glucose |
(3) galactose I
|

(4) lactose

A tall true breeding garden pea plant is crossed with a | 24.

dwarf true breeding garden pea plant. When the F,

plants were selfed the resulting genotypes were in the |

ratio of : |

(1) 3:1::Dwarf: Tall |

(2) 1:2:1::Tall homozygous : Tall heterozygous I
: Dwarf

(3) 1:2:1::Tall heterozygous : Tall homozygous
: Dwarf

(4) 3:1::Tall:Dwarf

Which part of the tobacco plant is infected by|2

|

|

|

|

Meloidogyne incognita ? |
(1) Root (2) Flower |
(3) Leaf (4) Stem I
Which of the following is not a characteristic feature |
during mitosis in somatic cells? I
|

|

|

|

|

|

(1) Synapsis

(2) Spindle fibres

(3) Disappearance of nucleolus
(

4) Chromosome movement

5.
6.

FreTforRae # & I —d1 EHIHIeTAT BT Fa’T e Sugdd

U IR PRAT 872

(1) w1l S &1 IR

(2) SYITET ST BT [AHR

(3) X-\geH YTl S BT fddR

(4) RGN faPR

|E FHAF gAY

(1) SFTgAErS greal $1 GRET STerary & avad] & oy
i &l Bl €

(2) SIS, AT AR AT, <Hl UhR
@ BId B |

(3) wifearyar, [T 3R grgrw, A Wl SISt €

@) forsar Fe9 o &l 7 WU 2

ol JETels i et @ fory feferfad o 1 i U

WP & w0 H P A & oY aedsd 8RT?

(1) <t iR deiders

(2) @I

(3) el

@) <ERrS

U o AgHY Yo SelTd AR U1qy &l Udh dI- dguy

YST+ SE Hex Uy W HebiRel T T | 5fd F, argdf
BT WHRIAT AT TAT A1 S URey T gRomH 5 J1gard

H or?
(1) 3:1::d9: a9
2) 1:2:1:: 7 THGESI R AT

iG]
(B) 1:2:1:: 7 AYAYHESH : o FHYHCH

iG]
@) 3:1::d%:d+
THIH, @ U BT DI AT 9T FHASSRIST g=hIAeT §IRT
Hep A BT 872
(1) s
(3)
IS BIRTGRIT H FHGAV & AR FfoiRad 3 4
DIT—AT T TSI AT SIAT?
(1) g™
2) qgwd g

(
(3) dfa® &1 f[AaTa=
(

4) IO T

(2) 9=
(4)
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27. Which of the following statements is not true for cancer , 27. IWRAAT & FddT H HER BIRIGRIT & forg fFrfaRad

28.

29.

30.

31.

32,

33.

cells in relation to mutations?
(1) Mutations inhibit production of telomeres.

(2) Mutationsin proto-oncogenes acceleration the cell
cycle.

(3) Mutations destroy telomerase inhibitor.

(4) Mutations inactivate the cell control.

One of the major components of cell wall of most fungi | 28.

is

(1) Hemicelluloses (2) Chitin

(3) Peptidoglycan (4) Cellulose
Cotyledon of maize grain is called :

(1) scutellum (2) Plumule

(8 coleorhiza (4) coleoptile

Which of the following would appear as the pioneer | 30.

|

|

|

|

|

|

|

|

|

organisms on bare rocks ? |
(1) Greenalgae |
() Lichens |
(3) Liverworts |
(4) Mosses I
|

|

|

|

|

|

|

Changes in GnRH pulse frequency in females is| 31.

controlled by circulating levels of :
(1) progesterone and inhibin

(2) estrogen and progesterone
(3) estrogen and inhibin

(4) progesterone only

Antivenom injection contains preformed antibodies while | 32.

polio drops that are administered into the body contain : |
(1) Attenuated pathogens |
(2) Activated pathogens
(3) Harvested antibodies

(4) Gammaglobulin

of:

1) Transducin and Retinene
2
3
4) Opsin and Retinol

Guanosine and Retinol

~ ~

(
(
(3) Opsinand Retinal’
(

|
|
|
|
|
Photosensitive compound in human eye is made up| 33.
|
|
|
|
|
|
|
|
|

DT H I DT FET e 872

(1) ScaRadd SRS & TG BT FEHT R d B |

(2) UrhdbARSIAT # IURTAT DIRBI—AH DI @RI B

<d 2|
(3) SWRTdH SIAMfY HeHd Bl T FR <d 2 |
@) SaRad+ HIfre—fT2=r 3 T & <d 2|
JATABAR Baehl H HIRTHT FRT BT Geb THE 3aad HI- AT
27
(1) TR

(2) Prgfiea

(3) UEreresH (4) SegeirsT
AFPHT & T ® 1o TF BT T BT Sl 82
(1) wpeam (2) TR

(3 AergR—dre (4) wigR—iel

& 7 FeeM R Udh IRRTHI Silg & wY H f=faRaa
H W BT JARA?

(1) &Rd dara

(2) wrgdA

(3) forae

4) ¥\

AR § GnRH Ued IRARAT 98ad & a1 fhdad
JRYAERUT—CRT §RT 81T 27

(1) wroReRA &R gfefeH

(2) SO IR Yo

(3) s¥eoH iR gfefam

(4) Had U=

gfcrenfay St # gdfafifa uforel 81 8 Safe aiferal @t
(1) &1 &R Y 7Y TS

(2) <afefad IvToEH

(3) Y TV yfRed

(4) T Tefiegfer

AT 9 H gehredae) e a9 BT ©

1) TSR &R e = 9

2) A IR et |
3) Mfead ik Xfeqaa |

(
(
(
(4) snfea ofiR Jfefa
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34. Specialised epidermal cells surrounding the guard cells | 34,

are called :
(1) Lenticels (2) Complementary cells
(3) Subsidiary cells (4) Bulliform cells
35. Which of the following features is not present in the
Phylum - Arthropoda?
(1) Jointed appendages
(2) Chitinous exoskeleton
(3) Metameric segmentation
(4) Parapodia
36. Reductionin pH of blood will :
(1) release bicarbonate ions by the liver,

(2) reduce the rate of heart beat.
(3) reduce the blood supply to the brain

(4) decrease the affinity of hemoglobin with oxygen.
37. Which of the following characteristic features always
holds true for the corresponding group of animals?

|
|
|
| 3
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
(1) |3-chambered heart with |
one incomplelely divided |Reptilia |
ventricle |
|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

2) |Cartilaginous

(2 E Chondrichthyes
endoskeleton

(3) |Viviparous Mammalia

(4) |Posses a mouth with an

upper Chordata
and a lower jaw

38. Match the terms in Column | with their description in | 38.

36.

37.

ER IR BT TR drent AR arer@ei St
DI T HET ST 87

(1) dcR (2) WP DIRDHTY

) HERID BIRTHTS (4) el TapIRIHETS
frferRad weton # & BI—AT wleToT Brger—anifurer §
& U Sfar?

(1) <fa Ut

(2) PR IRTHDI

(3) s EeWad

(4) dreaUTE

SR & pH H EF arell BHl & BROT

(1) IRd gT qISHIET BT BT B9 I

(2) BSI—Ed BT & FHH & SR |

(3) ARA BT BRR FHRUT HH & SR

(4) SITRIS & | EAFGITT DI ST T SIRAT
frferRaa o & B—3 fARkre Feror gasm & Sgall &
gl &t # Uy S 27?

(1) |9 Pe71 e geg R ISt
el deT g vH e

BT €
(2) |SuRere ofd: B pifgaest
(3) |whavere wferar

(4) |So 3R fR=el oS Tl | BT
A BT 9T ST

B | BT Il BT BidH Il F T T 96 goi= I 79

Column lland choose the correct option: HIRTY oI el fadey ?ﬁm :
Columnl Column i DHicH | Cacull
(@) Dominance () Many genesgoverna (@) I (i) 3M® S el AeToT Bl
single character for=or B 2 |
(b) Codominance (i) Ina heterozygous (b) ETRIfAaT (i) fovmgmsh Sia H§ dad
organism only one allele T B Vollell W Y
expresses itself JTFTdT BT 7 |
(c) Pleiotropy (i) Inaheterozygous (c) agwpIfaar (iii) TovFRTSlT Sitg <M
organism both alleles Bl Velldl 399 &l g ORE
express themselves fully 3Tfegad B 2 |
(d) Polygenic (v) Asingle gene influences (d) oI FemTfy (iv) T S 3d FA&ToT Bl
inheritance many characters | g9Tfad HYdr 2 |
Code: | Prs:
@ () (© (@ | (@ () (© ()
(1) @) (i) @) (i) | (1) v (i) @) (i)
@ ) @O ) i) : @ ) O @ i
@) (i) (i) @) () | 3) (@) (i) @) ()
@ ) @) (i) (i) | @) Gv) @) (i) (i)
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39.

40.

41.

42,

43.

45,

A typical fat molecule is made up of : I 39.

(1) Three glycerol and three fatty acid molecules |

(2) Three glycerol molecules and one fatty acid |
molecule |

(3) One glycerol and three fatty acid molecules |

(4) One glycerol and one fatty acid molecule |

Proximal end of the filament of stamen is attached to | a0.

the |

(1) Thalamus or petal

(3) Connective

Which one of the following statements is wrong?

(2) Anther

(4) Placenta
41,

(2) Sucrose is a disaccharide.

|
|
|
|
(1) Glycine is a sulphur containing amino acid. :
|
(3) Cellulose is a polysaccharide. |
(4) Uracil is a pyrimidine. |
Water vapour comes out from the plant leaf through | 42.
the stomatal opening. Through the same stomatal |
opening carbon. dioxide diffuses into the plant during |
photosynthesis. Reason out the above statements|
using one of following options : |
(1) One process occurs during day time, and the other |
at night. |
(2) Both processes cannot happen simultaneously. :
(3) Both processes can happen together because the |
diffusion coefficient ofwater and CO, is different. |
(4) Theabove processes happen only during nighttime. |
A complex of ribosomes attached to a single strand of | 43.
RNA is known as : |

(1) Okazakifragment (2) Polysome

(3) Polymer (4) Polypeptide

Which one of the following is a characteristic feature o
cropland ecosystem?

(1) Ecological succession

(2) Absence of soil organisms

(3) Least genetic diversity

(4) Absence of weeds

Which of the following is the most important cause o
animals and plants being driven to extinction?

(1) Co. extinctions

2) Over - exploitation

(2)
(3) Alien speciesinvasion
(4)

4

|
|
|
f| 44,
|
|
|
|
|
|
f| 45.
|
|
|
|
|
Habitat loss and fragmentation I
|

T UTIReYT G BT 379] fadsT 97 BT 87

(1) 9 TR it 9 a4 31 (U3l B

(2) < TRl AT IR U a7 Il 370] Bl
(3) U TR 37Y] 3R AT G 37T YUL3HT BT
(4) TP TERRIA AR TP I 37 AT BT
GaHeR & ag BT Fhcwel RIRT fHes Jer grar 27
(1) gwrEs a1 o (2) WETHTY

(3) HIANIH @) SSTveE
ffoaRad § ¥ S—a1 B+ Ted 22

1

AT TP HehRgad Tl 37T ¢ |

™

(2) GP P SEHINIES © |
(3) YA (& UifeTHdNIZS & |
4) R v RS €

UGy Uil ¥ STt are TR1 & gRT 918 37T & | FhIeizeryoy
P SR I T A Plad Sesiiaarss urey ¥ faaRa gid
2| STgFd oAl H (FR W ER 9R) 1 fAwed ghw

(1) e ufshar fa= & dor gt ufshar wd & g 2|
(2) < ufhaTg T AT & B Al |

(3) T UfshATT e w1 81 ehell & aife il IR CO,
T =T Tonies =T 2 |

(4) SR UfHaTe Haet T H B FHdl © |

RISAM BT U el Sil RNA & Udhel Iou]d & AT el

BIAT 8, 9T Hgelrar 27

(1) 3NN GUs (2) dfeiram

(3) Hfel R (get) (4) dielterss

ffaRea § 9 o9 va HRH aiRas &1 st 82

(1) uIRaFSH AHAvI

(2) < St o7 srgufRef

(3) =g rgafie fafderar

(4) Srqe @t srguferfa

STl 3R uredl @I fagf w1 e # | @I &1 U

A = HROT &7

(1) FE—aHI

2) ofT qrEa

(3) fa<e=h wnfa o =erE

(4) ME BT SR WA
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46.

47.

48.

49.

50.

In a chloroplast the highest number of protons are found in : I 46.
(1) Antennae complex |
(2) Stroma |
(3) Lumen of thylakoids I
(4) Intermembrane space |
Which of the following is not required for any of the| 47.

techniques of DNA fingerprinting available at present?

(1) DNA -DNA hybridization |
(2) Polymerase chain reaction |
(3) Zincfinger analysis I

)

Restriction enzymes |

The primitive prokaryotes responsible for the production | 48.

of biogas from the dung of ruminant animals, include|
the :
1

Eubacteria (2) Halophiles

(3) Thermoacidophiles (4) Methanogens

Periplaneta americana?
(1)
2)
3)

Metamerically segmented body

Schizocoelom as body cavity

Indeterminate and radial cleavage during embryonic
development

Exoskeleton composed of N-acetylglucosamine

|
|
|
Which of the following features is not present in:
|
|
|
|

@ :

A system of rotating crops with legume or gras pasture |
to improve soil structure and fertility is called: |

49.

50.

gRd oTad & WS B Afdhaq H=ar baf urRi Sl 87

DNA 3ffereTdl &l i ¥ daeiie & forg fefariaa 5

3 fHd U@ o) rawIdar e grir?
(1) DNA -DNA ¥R

(2) dfcliReT sj@Ee rfafshar

3) i sivgfer fageryor

(4) e JormsH

g feH el urofl, S IRl Sigell & MR |
IRAN—STe & fore STRarl 81 B, fhad sfavfa oma
2?

(1) golampe & (2) IR &

(3) dU—FA NIRRT &  (4) HoHD &
ffaRRad # A BIF—a1 deror URwieT SR # &l
T SITAT?

(1) fodse @fed <8

(2) <BIET B wLH QIOTE

(3) Yo gRTE & IR iR 3R 3R fager
@) N-rafcera@uHA | AT arsard

HET AT 3R IRGBAT H GEIR A & (0 Hhal bl
TellaR el (S7gH) AT 97T TRAE & A1 GEAdR T
PI FIT BBl Sl o°

(1) Shifting agriculture |
2 Levtam (1) R
ey rarmin
@ Leyfaming @ wwd
(3) Contour farming I (3) e A
(4) Strip farming | 4) YedeR Well
51. Which of the following is wrongly matched inthe given| 51. 1= <1 T q1feresT # TTefd AR =0T #&T &1 gH:
table? |
| e AT YA
Microbe Product Application | (1) |aetfeiifeam EUCRE qe @ Rl PT ESHT
(1) |Clostridium  |Lipase removal of oil stains | Femfaaa
butylicum | 1(2) |[gEoreat ST IR -A |gRReT "eds ofwf
(2) [Trichoderma |Cyclosporin A |immunosuppressive drug | It RaRA
Polysporum | |(3) |[Aren wfed ERR-FTARTA BT FH AT
(3) [Monascus Statins lowering of blood cholesterol || RERTH
Purpureus | |(4) [Fer o e IHE SER—TIE®T @ 2@@ BT F<HT
{4) |Streptococcus |Streptokinase |removal of clot from |
|
|
|
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52.

53.

54.

55.

56.

57.

58.

In mammals, which blood vessel would normally carry | 52. TR H HH—AT SSR—arfadT AH=IG: e D

largest amount of urea?

(1) Hepatic Portal Vein

(2) Renal Vein

(3) Dorsal Aorta

(4) HepaticVein.

Pick out the correct statements :

(b) Down’s syndrome is due to aneuploidy.

(c) Phenylketonuria is an autosomal recessive gene
disorder.

(d) Sickle cell anaemia is an X-linked recessive gene

disorder.

(a), (b) and (c)are correct.

(a) and (d) are correct.

(b)and (d) are correct.

(a), (c)and (d) are correct. |

|

|

|

|

|

|

|

| 53

|

(@) Haemophilia is a sex-linked recessive disease. |
|

|

|

|

|

|

1 |
|

|

)
2)
3)
)

(4

Which of the following guards the opening of: 54.

hepatopancreatic duct into the duodenum?
(1) Sphincter of Oddi

(2) Semilunarvalve

(3) lleocaecal valve

(4) Pyloric sphincter.

Microtubules are the constituents of :

(1) Centrosome, Nucleosome and Centrioles
(2) Cilia, Flagella and Peroxisomes

(3) Spindle fibres, Centrioles and Cilia

(4) Centrioles, Spindle fibres and Chromatin.

The coconut water from tender coconut represents :

(2) Endocarp

(3) Fleshy mesocarp

(4) Freenuclear proembryo

Tricarpellary, syncarpous gynoecium is found in flowers of:
(1) Poaceae (2) Liliaceae
(3) Solanaceae (4) Fabaceae

Which of the following is not a stem modification?
(1) Flattened structures of Opuntia

2) Pitcher of Nepenthes

|
|
|
|
|
|
| 55
|
|
|
|
|
|
| 56
(1) Free nuclear endosperm I
|
|
|
| 57
|
|
|
| 58
|
|
( |
(3) Thorns of citrus |
(4) Tendrils of cucumber |

AT T8 PRel 27?

(1) ehd arferer R

() gH-fm

(3) TS HETA

(4) Td R

. 98l HUF g

(@) BrHTwIferT fofiT—ger™= TITdl T 2 |

(b) TS HigM GOT & HROT BIT 2 |

(c) BNPBICHAE (hATgeTDICI=RAT) Teb JifelT !
YT S faaR 2|

(d) <= PIRMGT TaTedAr X-Hger = ATl o fIeR 2|

(1) (a), (b)3R(c)|E T |

(2) (a)3R(d)wE 7

(

(

~ ~

3) (b)3MR(d)wE =

4) (a), (c) 3R (d) we ¥

frfaRad # | S—1 Ge T IHSaE o el &
8 ¥ el dTel R DI <@l BRI 27

(1) TR B AR

(2) SETIHR HUIC

(3) = wure

(4) TSR SraRIfRT

eIy Heed Bl 2

~

(1) AR, YfITArdH AR TRBDI B

(2) ueArl, HIMH IR R RGN B

(3) THwUI T, ARBB=RI AR YA B

(4) TREBDB=I, THEU! N2 AR BHAfCA B
Hod AIRTS H, AT ur+t FaT 8°

(1) I SHesa! YoTarer

(2) o HaAMRT

(3) TEER AAHAMIRT

(4) TIH D! Yorgdi

Brrsa!, gadasyl ST feae o § 8T 2
(1) =i (2) forforor

(3) Sreiwil (4) Hadr
frfalRad % | ®IF o T BT HURT T8 87
(1) 3TRT @ AU EET

(2) 7FvefisTa °e

B) Figwd P

4) ¥R & ya=
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59.

60.

61.

62.

63.

64.

65.

The tag polymerase enzyme is obtained from : 59.

|
(1) Pseudomonas putida |
(2) Thermus aquaticus |
(3) Thiobacillus ferroxidans I
(4) Bacillus subtilis |

Stems modified into flat green organs performing the | 60.

functions of leaves are known as :

(1) Scales (2) Cladodes I
(3) Phyllodes (4) Phylloclades |
In higher vertebrates, the immune system canI61-
distinguish self-cells and non-self, If this property is|
lost due to genetic abnormality and it attacks self-cells, |
then it leads to : |
(1) Active immunity (2) Allergic response I

(3) Graftrejection (4) Auto-immune disease |

Nomenclature is governed by certain universal rules. | 62.

Which one of the following is contrary to the rules of|

nomenclature.

(1) When written by hand, the names are to be |
underlined |

(2) Biological names can be written in any language |

(3) Thefirst word in a biological name represents the |
genus name, and the second is a specific epithet |

(4) The names are written in Latin and are italicised

In bryophytes and pteridophytes, transport of male| 63.

gametes requires :

(1) Water (2) Wind

(3) Insects (4) Birds

In context of Amniocentesis,which of the following | 64

statement is incorrect ?

(1) It can be used for detection of Cleft palate.

(2) Itisusually done when a woman is between 14 -
16 weeks pregnant.

(4) Itcan be used for detection of Down syndrome

In the stomach, gastric acid is secreted by the : 65.
(1) acidic cells

(2) gastrin secreting cells

(3) parietal cells
(

|

|

|

|

|

|

|

|

|

|

(3) Iltis used for prenatal sex determination. |
|

|

|

|

|

|

|

4) peptic cells |
|

TP UifeTRST UrotTed fohasy Ut fovar Sirar ©

@) IfRaera wafefera

Rt &1 BRI B aTel, IuS &R 3 H ®URIRd a9 Bl
RIT HET ST 8

(1) b (2) GO ud

(3) o (4) oI g

STAIR PI®IBAT |, UReT o T—HITdhTe IR
IR—PIRBR # 9 PR FHaT 2| I T FT AFARD
JUAMETAAT B PRU J§ Y07 < & Y AR a8
Id—pIRBIAT BT A€ B i dl sHD URVIFRIHRY RIT

BRTI?
(1) af uforen (2) VerSit Jrgfehar
() RIY RAPR B T (4) TufaReT fAdR

TH-TEfd @ R gdwfe = e grr FafiRa

gt g | fF=falRed & 9 @19 91 e o9 99 ugfd &

forat & faeg @

(1) =M &1 59 g ¥ forad & a1 S99 w@ifdhd fohar e ©

(2) Sfaw A B fHedl Y T F forar 57 Adhar 2|

(3) SIfa® 9™ ¥ Ugel wea I M 3R TET ¥R S
JFbd Ig Bl YR Hxar 2 |

@) T DY fes 9T 7 iR fovs 3Rt # forar wiar ®

IRITBISE 3R TRSMBIgT § AR JHS & AWTHA B oIy

fed) smagaddr gidl & ?

(1) <@ (2) ga=

(3) bl 4) el

Ieae & dey H, fFEfaiRad # 9 319 A1 $H Tofd 2 ?

(1) U Tediqg (Feide Uele) BT Ul o & oy wgad
fopam ST 2 |

(2) UE IMAAR | T4 fhar Sar 8 519 & & 14 -16
g & 1 B T B 2 |

3) =9 wwayd fef—feriRor & forg ygad fham Sirar 2 |
(4) 3 e RIS &7 U o & forg TRget o ST 2
AT H STox ¥ BT I 8T §

(1) et BIRTHERIT |

(2) ReT & @ A Tl BIRTHRIT A

(3) i SifdrEEit &

@) Ufted HIRHRN |
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66.

67.

68.

69.

70.

.

72,

73.

Spindle fibres attach on to:
(1) Kinetosome of the chromosome
(2) Telomere of the chromosome

|

|

|

|

(3) Kinetochore of the chromosome I
(4) Centromere of the chromosome |
|

|

|

Which is the National Aquatic Animal of India? 67.
(1) Sea- horse (2) Gangetic shark
(3) Riverdolphin (4) Blue whale |

Which one of the following cell organelles is enclosed | 68.

by a single membrane?
(1) Nuclei
(3) Chloroplasts

(2) Mitochondria

|
|
(4) Lysosomes I
|

The two polypeptides of human insulin are linked | 69.
togetherby?

(1) Disulphide bridges (2) Hydrogen bonds

(3) Phosphodiesterbond  (4) Covalentbond

In which of the following, all three are macronutrients ? | 70.

(2) boron, zinc, manganese.
(3) Iron,copper, molybdepum

|
|
|
|
|
(1) Nitrogen, nickel, phosphorus I
|
|
(4) Molybdenum, magnesium, manganese I

Which of the following statements is wrong for viroids? | .

(1) Their RNA is of high molecular weight

(2) They lack a protein coat

(3) They are smaller than viruses

(4) They cause infections

Analogous structures are a result of :

(1) Stabilizing selection

(2) Divergentevolution

(3) Convergentevolution

(4) Shared ancestry

Select the incorrect statement:

(1) LH triggers secretion of androgens from the Leydig
cells

(2) FSH stimulates the sertoli cells which help in
spermiogenesis

(3) LHtriggers ovulationin ovary.

(4) LH and FSH decrease gradually during the follicular |
phase |

72,

73.

THHA I oI 2 |
(1) INF & BIgcE W

(2) TONF B I W

(3) INH & FBISAICIHR W
@) TNF & gFhw W

TRA BT I ST GOl HIe 7 8
(1) - (2) T Y T
(3) =<1 @ Sifew (4) = g

fr=ferRad ¥ | B9 A1 BIRGIT Bddl U ball I fORT
BT 8

(1) d=®
(3) eRderdd

Ag 3gfo & QI UleliUelgs 99 ¥ fhdd gIRT TSI

&Id 8

(2) D

(4) <ITH™

(1) SEHePESdg  (2) BRSO 9
(3) HIEPISISURR I (4) ABHAISH a=
ffoaRed # & o9 ) 9 geadive &

(1) T3groM, Fidhd, PR®RY

(2) IRF i, HroiA

(3) dirg, A, ArcilesH

(4) HArcilesTH, HIITRRH, TS

fr=ferRaa # 9 o 1 FuF 9o & favg # Tad
(1) 3571 RNA S 31fdqds HR arelT 81T § |

(2) S WIS SRV BT HTT BIell 2 |

(3) I fawTugeii | eUeTHd BIC Bl 7 |

@) T HHHT B E |

AT FRAAY fhd BIROT Ieq=T BIdl &7

(1) ReRSHRT aRoT

(2) Rl fae s &

(3) <RI fdwr &

(4) TSI GRTORORT

AT B DI FAY

(1) LH NfST SIRIawRIT < IS & Td &7 IRT aar g |

(2) FSH ATl IRl BT eI Bl & ST YehToor
A ARGl Rl B |

(3) LH 37Serd A sieieisi- &7 URd Bxar 2 |
(4) LHS3IR FSH YT 31awell & SR 8RR "edl S 2 |
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74. Which one of the following characteristics is not shared I 74. f=faRad deon § 9 B 91 Uh 8707 uferdl &R e

75.

76.

77.

78.

by birds and mammals? . |
(1) Warm blooded nature |
(2) Ossified endoskeleton |
(3) Breathing using lungs I
(4) Viviparity |
Which of the following statements is not correct? I

|

|

(1) Some reptiles have also been reported as
pollinators in some plant species. ,

(2) Pollen grains of many species can germinate on |
the stigma of a flower, but only one pollen tube of |
the same species grows into the style.

(3) Insects that consume pollen or nectar without |
bringing about pollination are called pollen/ nectar |
robbers. |

(4) Pollen germination and pollen tube growth are
regulated by chemical components of pollen
interacting with those of the pistil

involves the process of :

|
|
|
|
Seed formation without fertilization in flowering plants | 76.
|
|
|

(1) Apomixis (2) Sporulation
(3) Budding (4) Somatic hybridization |

Which of the following approaches does not give the | 77.

defined action of contraceptive?

TRAT &4 # & urn e §

(1) Fraaar spf

(2) SRV 3id: Hblel

(3) Wl gRT TqHT

(4) wladeTed

f=faRad § 4 o9 @ Fod 9 T8 2°

(1) B ARYY FW U SAfaal H IR HRd Y G
e

(2) 9T IR ST & WRETHYT U goF & Iy TR
AHRT B AP & IR ST ST & WRETHUI Bl
®del T RNT—ATIDT dfcidl & 3T 9l 2 |

(3) Wic ST fI4T IRETVT {3 IRIT AT AHRE BT T HRd
2 9% WM ARG AR HEd &

(4) TRTTHYT fGHROT ToAT WRIT AfAehl g, TRITEHUT qeIm
B B URWRSD AT & HoRdwy I~
IS gedl gRT FRIfa g 2

gull uredi A o1 v & 4T g9 FeEfaRad 3| BiF

I ufhar &

(1) ST (2) doTE ST
(3) FgerT (4) PIAD FHR

ffeRad SUrTl # 9 B9 |1 U bl THRARES BT
IRYTYT 8] HRT?

(1) |Vasectomy prevents spermatogenesis

(2) |Barrier methods [prevent fertilization

(3) |Intra uterine increase phagocytosis of

devices sperms, suppress sperm
motility and fertilizing
capacity of sperms

(4) |Hormonal Prevent/retard entry of

contraceptives |sperms, prevent ovulation

and fertilization

(1) |zpae®d =WTa  |YFUEEA A81 819 ]

(2) R @FR=R) fafet | e 8

(3) |a7a: TaferRlY gfaTat |TEHORT &1 WeTH RIS T
98T 3l © YRR BT RIS
g 9= &mdT &1 7SS HAT &

(4) |8 mifaes YHIRI T YA BT AT &/
BT TY BT 9T HY T B,
FeewT AR YT At

gF T

synthesis of :
(1) Cortisol and Cortisone

(2) Melatonin and Serotonin
(3) Thyroxine and Triiodothyronine .
(4) Estrogen and Progesterone

|
|
|
|
|
|
|
|
|
|
|
|
|
The amino acid Tryptophan is the precursor for the | 78.
|
|
|
|
|
|
|
|

YT 31t fEeeithe febeaes Heeiwor & forq qerT 81T &7
1

pIfedIeT 3R I

1

2) AR R IS

(3) URRIfRE iR STERMNSRIIRI
4) Lo 3R droeeRfE
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79.

80.

81.

82,

83.

84.

Ariver with an inflow of domestic sewage rich in organicI 79. U A4 H 99 HEMD SARTE | WY TRdIed dd

waste may resultin :

|
(1) Death of fish due to lack of oxygen. |
(2) Drying of the river very soon due to algal bloom. I

(3) Increased population of aquatic food web
organisms.

(4) Anincreased production of fish due to
biodegradable nutrients

|
|
|
|
Gause’s principle of competitive exclusion states that: I

(1) Larger organisms exclude smaller ones through |
competition.

(2) More abundant species will exclude the less
abundant species through competition.

(3) Competition for the same resources excludes
species having different food preferences.

(4) No two species can occupy the same niche
indefinitely for the same limiting resources

Asthma may be attributed to :

(1) accumulation of fluid in the lungs

(2) bacterial infection of the lungs

(3) allergic reaction of the mast cells in the lungs

(4) inflammation of the trachea

The standard petal of a papilionaceous corolla is also
called

(1) Corona (2) Carina

(3) Pappus (4) Vexillum

Which of the following is a restriction endonuclease?
(1) RNase (2) Hindll

(3) Protease (4) DNasel |

It is much easier for a small animal to run uphill than |

for a large animal, because: |

(1) The efficiency of muscles in large animals is less |

than in the small animals.

(2) ltis easier to carry a small body weight.

|
(3) Smaller animals have a higher metabolic rate. I
(4) Small animals have alower O, requirement. I

|

80.

81.

82,

83.

84.

gEgax ARAT &1, a1 SA&T aRom™ @ 8T

1) SITRIISTT B BHT B HROT ABTAT 7R STRAR |
2) AT YREET © BRI T4l Sfeal 1 g SRl |
3) ST WoH @l wEfe # gfg 8 SRl |

4) SIS UGN & BRI AGell B SATGT 96
SIRRATT |

] srgaie @1 Y g wear g fb

(1) 3P TS ATBR & SiId WEll §RT BIC SIgaAT bl
ITex et < 2 |

(2) 3ifdd e # ure S arelt et et gRT $H
T B 91C S arelt Tefiot BT 3rgafdid wx < |

(3) A R @ forg et 39 wiefs &1 sruafsta
PR M ST I TR b Wi R 9 Shifad %8 Ao 8 |

(4) PIs 1 a1 WS U & a7 A @ & forg
T Y& el qifcs WHISHRI Fr FH 8 8 © |

SRAT BT HRT FT BT &

1) wWel & HIAR Ul DB 81 ST

2) BHS! BT SATY] §RT HHAYT

3) BWwSl H ARE BIFRMGRI & Taroll AfAfdar

4) ATl P TN

AT aTel T@YSt A AFD <cl Bl 3 fbd 9 |
ST I ®

(
(
(
(

(
(
(
(

(1) SR (2) dReT

(3) Hud (4) AT
fAfoRad # 9 9 a1 ve Uiy Tegfdey B |
(1) SMRTITS () fe= i

(3) mfegst 4) SgATS|

TS AMHR B I3l & GbIael A BIC AHR D SIgall b

oI UBTel TR TeAT 3 BIaT 8 | Riifh

(1) ®ic Sgall & gHEaa 7 a8 gl 31 Ukl @t
PHRIETHAT HH BT B |

(2) B IRR B IR BT SHUR of ST AP A BT B |

(3) BIC MMHR dTel UYRI B IUTTRT TR AUeTH M
I 2 |

(4) BIC AR B Sigall I O, I IU&IThd HH
B E |

D Target PMT o,

Head Office : A-1/169, Main Najafgarh Road, Janakpuri, New Delhi-110058

011-41024601-05

excrusivew ror menicaL enrrance | E-maail : info@targetpmt.in

Website : www.targetpmt.in

Page No# 14




NEET-2016(PHASE-1)/Code#C,R, Y

Date : 01.05.2016

85. Following are the two statements regarding the origin | 85. iia &1 Scafxl @ e’ ¥ 1 Hoq e v 8

86. A cell attelophase stage is observed by a studentin a | 86.

87.

88.

89.

90.

of life :
(@) The earliest organisms that appeared on the earth
were non-green and presumably anaerobes.

(b) The first autotrophic organisms were the
chemoautotrophs that never released oxygen. Of
the above statements which one of the following

options is correct ?
(1) Both (a)and (b) are false.
2
(

3) (b)is correct but (a) is false.

(a) is correct but (b) is false.

)

Both (a) and (b) are correct.

plant brought from the field. He tells his teacher that |

this cell is not like other cells at telophase stage. There
is no formation of cell plate and thus the cell is
containing more number of chromosomes as compared

to other dividing cells. This would result in
(1) Polyteny

(2) Aneuploidy
(3) Polyploidy
(

4) Somaclonal variation

Depletion of which gas in the atmosphere can lead to| g7.

an increased incidence of skin cancers:

(1) Methane (2) Nitrous oxide

(38) Ozone (4) Ammonia

Joint Forest Management Concept was introduced in| gg
India during:

(1) 1990s (2) 1960s

(3) 1970s (4) 1980s

Which one of the following is the starter codon?
(1) UAG (2) AUG

(3) UGA (4) UAA

The term ecosystem was coined by :

(2) E.P.Odum

(4) E.Haeckel

(1) E.Warming
(3) A.G.Tansley

89.

90.

(@) Tl R Uy&e B dTel STRMAHTH oIl B 71el o 3iR
AT AT 9 |

(b) U Udhe BN dretl WU S AUt o fRgie
SNRIIST BT SO A8l fhaT |

SWRITGT Bl # B a1 fFrefoRad wue a8 87

) 3R (b) ST &1 Terd § |

a) |el 2 olfd (b) Teld 2 |

b) W& & <ifeh (@) Teld B |

a) 3R (b) <1 &1 eI 2 |

Wd ¥ @R Y UH UIRY BIRIET H TS faemdl gRr

TRl <@l MY | 98 A et | FHEdT 7 A8

PIDBT SFATARAT W 3T PIRTBIN A A~ 2| 38

PIPBT i Fal g1 AR 3T BIRUT 37 BIRIHT H 3=

faToTe arelt BTl @) arer <1fires [UNH B | SHST

gRomd a1 gRTT?

1) 9gueear

2) srgafoma

3) agfrar

4) FHrRIGAH! faf=ar

ARV H st 39 DI HH B W TAT B DA B AR

(1) #eE VARSIEFAICIENIES]

(3) oot (4) s

YT I YT B IR ARA H b SR IRATad o

TRy ofi?

(1) 1990s (2) 1960s

(3) 1970s (4) 1980s

fAfoRad # 9 B9 1 U YRS Uae ®

(
(
(
(

(1) UAG (2) AUG

(3) UGA (4) UAA

SHIRICH (UTRT) Teq A gl fhast I oO1?
g afd ) € 9. afrew

(3) U. SN cl¥et 4) 3. et
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91.

92.

93.

94,

95.

96.

[ PHYSICS |

What is the minimum velocity with which a body of | 91.

mass m must enter a vertical loop of radius R so that it|
can complete the loop ? |

(1) /5eR ) eR
(3) +2gR 4) SeR

magnitude of difference of the two vectors, the angle
between these vectorsis:

(1) 180°
3) 90°

) 0°
@) 45°

Atwhat height from the surface of earth the gravitational | 93,

potential and the value of g are 5.4 x 10" J kg™ and|
6.0 ms™2 respectively ? Take the radius of earth as|

6400 km. |
(1) 2000 km (2) 2600 km :
(3) 1600 km

(4) 1400 km |

A long solenoid has 1000 turns. When a current of 4A| 94.

flows through it, the magnetic flux linked with each turn I
of the solenoid is 4 x 107> Wb. The self-inductance of|
the solenoid is |
|
|

(1) 1MH (2 4H
(3) 3H @) 2H

An inductor 20 mH, a capacitor 50 pF and a resistor. | 95.

40Q are connected in series across a source of emf|
V = 10 sin 340t. The power loss in A.C. circuit is |
(1) 0.89W (2) 0.51W |

(3) 0.67W (4) 0.76W I

Two identical charged spheres suspended from al 96.

common point by two mass less strings of lengths ¢, |
are initially at a distance d(d << ¢) a part because of
their mutual repulsion. The charges begin to leak from
both the spheres at a constant rate. As a result, the|
spheres approach each other with a velocity v. Then v|
varies as a function of the distance x between the|
spheres, as : |

(1) v o x 2) v ocx'?

(3) voax @) vocx

|
|
|
|
If the magnitude of sum of two vectors is equal to theI 92.
|
|
|
|

R r=r & il Safer urer () § m g & fhl
fovg &I fog fA=1d® 97 I U491 AT a1y b a8 i
BT qot R FqDH?

(1) +/5eR ) eR
(3) 2gR 4) SeR

gfe 7 Afeel & JRT 7 URATT S9 aF IS & IR &
IR & IRIER &, a1 5 el & § BT 2 |

(1) 180° @ o
3) 90°

gl & IS ¥ Bl Sarg IR [Hcdd a9 3R THed
RO g b A BT ~5.4 x 107 J kg™ 71 6.0 ms 2 &I

(4) 45°

27 9ol 1 3531 6400 km AT |
(1) 2000 km (2) 2600km
(3) 1600 km (4) 1400km

forefl o) uRIfeTenT & BRI 1 E=r 1000 8 | o9 39
IRATRIGT I 4A &RT JaTfed 8! ©, I 59 IR TR &

YRS WX ¥ Hag D Terad 4 x 10° Wb BaT 2 | 39
ARATADT BT TW—IRS @

(1) 1H 2) 4H
(3) 3H @) 2H
frdy =a Sradr emf, V = 10 sin 340 t®, & 900 #

20 mH &1 IR, 50 pF &I [T T21 40 Q &1 UfoRIEd
AT ® | %9 UedTait &Ry ufRuer # ofae &1 2 |

(1) 0.89W 2) 0.51W

(3) 0.67W (4) 0.76W

e Sl fa=g <, oS ¢ @1 <1 gegdIe Skl
I feifaa, a1 949\ Al e, == Ufidy o @&
BHIROT, JIRA H T TR A d(d <</) T W 2| 31 &
el | U A S 3 AT BT &RT 3RAT 8l 7, 3R
A IRVITFRARY el Th AR BT 3R O v A 31 § | 79
el & 91 @ A, X D B & wY § 97 fJ=Ror feq
w9 # grar @

(1) v o x

2) v ocx'?

(B) vax @) vocx "
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97.

98.

99.

100.

101. A potentiometer wire is 100 cm long and a constan’[| 101.

1 2
O

vV—— — ——

2uF 8uF

A capacitor of 2 uF is charged as shown in the diagram.
When the switch S is turned to position 2, the
percentage of its stored energy dissipated is :

(1) 80% 2) 0%

|
|
|
|
|
|
|
|
|
|
|
|
|
|
3) 20% 4) 75% I

A particle moves so that its position vector is given by | 98.

T = cosotx +sinwty . Where o is a constant. Which of |

the following is true? |

(1) Velocity is perpendicular to r and acceleration is |
directed away from the origin.

(2) Velocity and acceleration both are perpendicular
to 1.

(3) Velocity is acceleration both are parallel to .

(4) Velocity is perpendicularto r and acceleration
is directed towards the origin.

From a disc of radius R and mass M, a circular hole of | 99.

diameter R, whose rim passes through the centre is|
cut. What is the moment of inertia of the remaining |
part of the disc about at perpendicular axis, passing |
through the centre? |

(1) 9MR?32 2) 15MR?/32 :
(3) 13MR%32

@) 11 MR?%32 |

The ratio of escape velocity at earth (v ) to the escape | 100.

velocity at a planet (vp) whose radius and mean density
are twice as that of earth is : |

(1) 1:42 @ 1:2 |
@) 1:22 @) 1:4 |

potential difference is maintained across it. Two cells

are connected in series first to support one another|
and then in opposite direction. The balance points are |
obtained at 50 cm and 10 cm from the positive end of |
the wire in the two cases. The ratio of emf’'sis: |
(1) 3:2 ) 5:1 |
(3) 5:4 @) 3:4 |

OI\)

vV—— — ——

2uF 8uF

ARG A T JFAR 2 pF aRar & (Al GerRa &1

AR fdbar a2 | Sia R S 1 Reafay 2 wR gHmn Sirn

g, a1 39 fed Soft &1 gfirerd & g |

(1) 80% 2) 0%

(3) 20% 4) 75%

DS BT 9 UBR THF T & b Iqa1 Refa |fcer

T =cosotk +sinoty FRT ST far 1 8, J8f 0 Th

[RRGIEEY

frfaRad % 9 B9 1 HUF I 82

(1) o T & o9aq o dAT TR A fag I g BT AR
AR 2 |

(2) I AR TROTTHEIE T D I B |

(3) I AR @RUT I & T D AT 2 |

(4) 9T T P AFEI] T qUT @RI A 95 BT IR
frdfRma 2

TeAE M an s R &1 fadl e 9 R &l a1

FATHR (58 $H UIBR BICT AT & b IFD! ARSTD &

T ¥ R | S & AV 91T &I, 6 & THad 9D

T oI dTel 31T & URT: e MLl o 7 ?

(1) 9MR?%32 2) 15MR?/32

(3) 13MR%32 @) 11 MR?%32

gedl TR YR A (v, ) TAT S TE W UA1aT o (v ) H

FAT AU B, Fora] F3rar Sl sl aica gl &
o H & A 2 ?
(M 1:42 () 1:2

@) 1:22 @) 1:4
foreft fouaaTd & aR @ =TS 100 cm 8 T 39 RRY
& I Pls FFad e 9970 a1 =1 2 | 2T Al Bl
Sofishs H U8l U AN B AeRIdl IR 8Y 3iR R
TP —gR B FIuRIa feemett  warfa foar war g1 39
ST USRI H T—faerg Ref aR & gt R 4 50
cm 3R 10 cm 0 W U 8Kl © | Q1 el &1 emf &1
3T 2

) 3:2 2 5:1

(1
(3) 5:4 (4) 3:4
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102. A siren emitting a sound of frequency 800 Hz moveSI 102. 800 Hz 3Ry & el I~ PR+ Tl PIs ARIRA Bl

103.

104.

105.

106.

away from an observer towards a cliff at a speed of|
15ms™". Then, the frequency of sound that the observer |
hears in the echo reflected from the cliff is : (Take|
velocity of sound in air = 330 ms‘1) |

(1) 885Hz (2) 765Hz |

|
(3) 800Hz (4) 838Hz |

To get output 1 for the following circuit, the correct| 103.

choice for the input is :

A

|

|

|

B Y |
C o— |
|

|

|

|

|

(1) A=1,B=0,C=1
2) A=0,B=1,C=0
3) A=1,B=0,C=0

@) A=1,B=1,C=0 |

In a diffraction pattern due to a single slit of width ‘a’| 104.

the first minimum is observed at an angle 30° when |
light of wavelength 5000 A is incident on the slit. The |
first secondary maximum is observed at an angle of : |

(1 sin™ [zj 2 sin™ [lj |
4 4 |

|

|

@3) sin™ @j @) sin™ [%j |

When a metallic surface is illuminated with radiation of | 105.

wavelength A the stopping potential is V. If the same |
surface is illuminated with radiation of wavelength 22,

A\
the stopping potential is 1 The threshold wavelength

|
|
|
for the metallic surfaceis: |
(1) 3 () 4 |

|

|

(3) 5 @) %x

When an a-particle of mass ‘m’ moving with velocity ‘v* | 106.

bombards on a heavy nucleus of charge ‘Ze’ its distance |
of closet approach from the nucleus depends onm as|

|
(1) m 2) |
|
|
|

1
3) N 4) )
|

UeTd A Yo IceT BI MR 15ms™ &l 9Tt | T 2 |
9 39 @+ B gy, o g™ ¥ wRrafkid ufiea &
w0 H 98 UeId AT 8, T BAIT ?

(arg # eafy & @1t = 330 ms™! M)

(1) 885Hz (2) 765Hz

(3) 800 Hz (4) 838Hz

=1 fey v gRuer 3, ffa 1 ure e @ forw fHraer @
|E =TI ©

A

B Y
Co—

(1) A=1,B=0,C=1
2 A=0,B=1,C=0
3) A=1,B=0,C=0
@4 A=1,B=1,C=0
W9 =Ss ‘@’ B [l Uehel 31 1R 5000 A aRTeed b
YT JATIAT Bl 8, A1 SR & BRI I faga Je=

# 30° & PIvT IR Ygar (A fewrs <ar 8 | uger fgdius
Sfeos g BT «R fewrE 2, a8 © -

)] sin'{%) 2 sin'{%)
3) sin'{%} @) sin™ Gj

9 T g1fcqs g= &l dviresd A & fafRon I gerw
féban ST 8, ar AR fava V 2 | afe 50 g o1 oRereed 21

zﬁﬁﬁmﬁﬁq@mﬁmmaﬁﬁﬁsﬂw}ﬁw
2| 39 uIfdd U @ Igell aviaed 2 -

(1) 3 2) 4

5
(3) 5r ) Ek

ST SHE ‘M’ 9T 9 ‘v TTREE BIS o--hT ‘Ze’
AT B et 9 A1fd W q9aR) dear 8, dF I9dT
e ¥ FdHecdd ITHA & T m W 39 TR [

PRl

(1) m @)

1
1 1
) N 4) )
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column-2. [Where m is the magnification produced by |
the mirror]

108. A particle of mass 10 g moves along a circle of radius

6.4 cm with a constant tangential acceleration. What
is the magnitude of this acceleration if the kinetic
energy of the particle becomes equal to 8 x 107 by |
the end of the second revolution after the beginning of |
the motion?

(1) 0.2m/s?
(3) 0.15m/s?

|

Column-1 Column-2 |

(A) m=-2 (@) Convex mirror I

1 : |

(B) m= ~5 (b) Concave mirror |

(C) m=+2 (c) Realimage I
1

(D) m= +5 (d) Virtual image I

1) A candd; B bandd; |

C - bandcg; D » aandd I

2) A > bandg; B — bandc; |

C —» bandd; D » aandd |

B A —» aandc; B — aandd; |

C —» aandb; D > candd |

@4) A > aandd; B - bandc; |

C > bandd; D - bandc :

|

|

2) 0.1 m/s?
(4) 0.18 m/s?

109. A small signal voltage V(t) = V, sinwt is applied across

|

|

an ideal capacitor C : I
(1) CurrentI(t), leads voltage V(t) by 180° |
@ :
(3) |
|

Current I(t), lags voltage V(t) by 90°

Over a full cycle the capacitor C does not consume
any energy from the voltage source.

(4) CurrentlI(t)is in phase with voltage V(t) |
roll off on two inclined planes of the same altitude and |
length. Which one of the two objects gets to the bottom |
of the plane first ?

(1

Depends on their masses

)
(2) Disk
(3) Sphere
(4) both reach at the same time

108.

109.

110. Adisk and a sphere of same radius but different masses | 110.

107. Match the corresponding entries of column—1 with| 107. Fem—1 @ T fest BT FeT Biem—2 71 et

| BN | [T-T m U gRT S 2maeid §]

Column—1 Column-2
(A) m=-2 (@) S U
1
(B) m=-— (b) sradel gUor
(C) m=+2 (c) ar<fde® gfafe
1
(D) m=+- (d) 3Tl ufcrfaw
(1) A > cdd; B >bdd;
C 5 bdcg D » add
@ A - bdg; B> bdg;
C - bdd; D > add
@) A - adg; B - add,
C > adb; D> cdd
4) A - add; B - bdgc;
C > bdd; D> bdc

10 g SAT BT DIs YT 6.4 F.HT o=l a1 & g &
srgfeer frell faa wRf—di @RoT 9 1y H=ar 2 |
IS TR JRFT B B UwdTe &l URBHAN R B TR

BT BT TIfST Soff 8 x 1074 & STl B, AT 39 @RoT Bl
gReToT T 87

(1) 0.2 m/s? 2) 0.1 m/s?

(3) 0.15m/s? (4) 0.18 m/s?

By oY Rl dleedr V(t) = V, sinot f&dl smae
HTRA C & RRI W uygad &1 Tl &
(1) &7 I(t), dreedr V(t) F 180° 31T B |
(2) ©RTI(t),, dveear V(t) ¥ 90° U%d B |
(3) P Yol Tsh H HIRA C diecdl VA A Blg ol
JUYe &1 T |
(4) ©RT I(t),, dlecdT V(t) BT el H T |
BIg (S AR B Mell, DD B G99 W] S

=1 & 999 S=diY iR oTNTS B gl 37HFd gl IR
Jedd 2| 37 aHl fIvet § A Tl Id Ugel BIF UgA?

(1) 37 geEH W R FRar @

@) <Ml US & \HI gl
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11.

112.

113.

114.

115.

Coefficient of linear expansion of brass and steel rodsI 1M1, dad (9) iR T @ Bl & e TR & ol

are o, and a,. Lengths of brass and steel rods are|
£, and ¢, respectively. If (¢, —¢,)is maintained same |
at all temperatures, which one of the following relations |
holds good ? |

(1) (11 /€1=(12/€2 (2) (11 /€2=(12/€1 |

2 2
@) ol =ayl} @) ofly=oa3l |

A astronomical telescope has objective and eyepiece | 112.

of focal lengths 40 cm and 4 cm respectively. To vieW|
an object 200 cm away from the objective, the lenses |
must be separated by a distance : |

(1) 54.0cm (2) 37.3cm |

|
(3) 46.0cm (4) 50.0cm |

A uniform circular disc of radius 50 cm at rest is free to | 113.

turn about an axis which is perpendicular to its plane |
and passes through its centre. it is subjected to a torque |
which produces a constant angular acceleration of
2.0 rad s72 Its net acceleration in ms™ at the end of|
2.0 sis approximately : |
(1 3.0 (2 8.0 |
3) 7.0 4) 6.0 |

A refrigerator works between 4°C and 30°C. it is required | 114.

to remove 600 calories of heat every second in order to |
keep the temperature of the refrigerated space constant.
The power required is : (Take 1 cal = 4.2 Joules)

|
|
(1) 2365W (2) 2.365W |
3) 23.65W (4) 236.5W I

|

A gas is compressed isothermally to half its initial | 445

volume. The same gas is compressed separately
through an adiabatic process until its volume is again |
reduced to half. Then: |

(1) Which of the case (whether compression through |
isothermal or through adiabatic process) requires |
more work will depend upon the atomicity of the
gas I

(2) Compressing the gas isothermally will require |

more work to be done |

|
|
|

(3) Compressing the gas through adiabatic process
will require more work to be done

(4) Compressing the gas isothermally or adiabatically |
will require the same amount of work |

HH o, AR a, 8 | Ui 3R T BT Bl Bl gt
B £, 3R 0, T AR (0, — ¢) BT A At & forg
FH 91T ST, 9 S QU 1T Heul § 9 pl—a1 9
g7

(1) (11 /€1=(12/€2 (2) (11 /€2=(12/€1

2 2
(3) of3=oyff (4) oily =03l

Pl T A & SIWgRID 3R BT BT Bl

SRAT e 40 cm iR 4 cm § | JAMAgI® ¥ 200 cm Y
Rerd foefl fama @l <@ & forg, <41 ol & = &1 g8

B9 12T
(1) 54.0cm (2) 37.3cm
(3) 46.0cm (4) 50.0cm

feRmaTaRer & Rerd 50 cm f3roa1 @1 ®Ig T FHM gaTbR
% U TcT & e 3R b | Yok dlel 38T &
o e @ forg wads ¥ | 39 R R B do amegef
B BT 2, S 399 2.0 rad s72 &7 gd S @ror
I~ B AT 2 2.0 s UZAq ms 2 H $ABT A @RI
BT ST

(1) 3.0 (2) 8.0

(3) 7.0 (4) 6.0

BIg fboRer 4°C 3iR 30°C & 19 B oxar & | wefiad
Py ST arel %= &1 a9 9d @9 3 g 600 HaART
ST BT fe Abvs qTex FbTelT AMaIH BT & | 5D
foru smmavae wifad =nfavy

(1 cal = 4.2 Joules @IfoT)

(1) 2365W (2) 2.365W

(3) 23.65W (4) 236.5W

B TR9 T FHATIT ® U A S M I ddh FUIfSd
fpaT ST 2 | 30 199 BT gurd wU A Bl UfhaT R
9P 3N 3T deb AuIfSd fbar Siam 8 | a9

(1) =18 AR UfhaT §RT WUIRST &Y 12T qer™
afohar gIRT AT B, fohsd yaxor # 1fdd 1 Prey Bl
ATITIHAT BN, & I BT URATIDHAT UR 4R BT |
2) I B FHA ufhar gRT AAfed wA # v
BRI B Pl ITLIDHT B |

(3) 1 BT wEHH UlhAT §RT AUIRST B H 31eiep B
B Pl ITATIHAT BT |

(4) 7 BT FHATIT UfohaT rerar waersT Ufhar Gl H &
TH BT B BT ATIIDHT B |
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116. The intensity at the maximum in Young’s double slit| 116. I & B B R T & Sfeaee o) Saan Io%\r| =1

17.

118.

119.

experiment is I,. Distance between two slits is
d = 5\, where A is the wavelength of light used is the |
experiment. What will be the intensity in front of one of |
the slits on the screen placed at a distance D = 10d ? |

Iy |

M 2 @ 1 |
|
@ @ 1o |

Two non-mixing liquids of densities pand np (n> 1) are |
put in container. The height of each liquid is h. A solid
cylinder of length L and density d is put in this container.
The cylinder floats with its axis vertical and length pL |
(p < 1) in the denser liquid. The density d is equal to |

W) d+O-Dplp @ {+0n+1Dpkp |
@) @+ @ 2+ (—1)plp

Consider the junction diode as ideal. The value of
current flowing through AB is :

Q—D.—'W\MA,—O
+4V -6V
(1) 107°A 2) 0A
(3) 1072A @) 107'A

A car is negotiating a curved road of radius R. The road
is banked at an angle 6. The coefficient of frlctlon|
between the tyres of the care and the road is u.. The |
maximum safe velocity on this road is:

|
|
|
|11
|
A 1KQ B I
|
|
|
|
|

|
tan 0 tan 0 |
g Mg +tan 2 Mg +tan |
S BT RZ_Ss T
(1) 21 g +tan 2) \/g 1-pg +tan® |
|
W +tanb g Ug+tand |
+tan9 R 1-pg+tan® |
|

120. Along straight wire of radius a carries a steady current I. |

The current is uniformly distributed over |tS|
cross-section. The ratio of the magnetic fields B and |

a
B', at a radial distances 5 and 2a respectively,from |

the axis of the wire is:

|

1 |
(1) 4 @ 5 I
|

4) 1 |
|

® 5

17.

119.

120.

foRal & 9 & g2 d = 54 B, I A YART H IuAnT fhy
MY YT B axTaed € | fed 3 & |\ 0 D = 10d

R Rerd ud R dledr @ e ?
M > @ 1
@ @ 1o

vh gy A M@ 9 89 ard 31 g9, e g9@
pTATNp (n> 1), ol U # MR B | IS &d DI HaTs
h 2| ors L3R g9cd d & fh<dl St &l 359 ursl # ¥
ST 8 | I8 9o U § 39 bR oxdT 8, fb ggar ot
SR BT & ToIT 39! T aTs pL (p < 1) & =d H Bl
219 d BT qH 2|

(1) {1+(h="T)p}p 2) {1+(n+1)p}p

3) {2+(n+1)p}p @) {2+ (n="T)p}p

8. Jfr SraTs @I 3mest AMHR faaR HITT | AB 9 yarfed
ERT BT 719 © -

A 1kQ B
+4V -6V

(1) 10=2A (2) 0A

(3) 102A @) 107'A

PIs BR F3roar R P dfshd Tsb R 7fa9 2 | I8 Fsb
BT O WR A 2| PR S TRRI 3R FeH & a1 gyor
O p, & 39 ASH IR PR BT eIDHTH & T & -

g ug+tanb 7 Ug+tanb
M V2 lopz@o @ (™ - ano
R- l-pg +tan® I-pg +tan®

Mg +tanb g pg+tan®

+tan9 R 1-pg +tan9

Brar a @ & o Ag aR | $Is W@l gR7 [varfa
BT3B | 39 AR B FIPRY PIC W YRT Ud FAH ©F

faaRa & | IR & & ¥ B gRal %Gﬁ‘x’ZaT\’W:

DI 831 B 3R B' &7 rgurd 28—

1
(1 4 @ 7
3 ] 4) 1
©® 3 )
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121.

122.

123.

124.

125. An air column, closed at one end and open at the other, | 125.

126.

Given the value of Rydberg constant is 10’ m™, the
wave number of the last line of the Balmer series in
hydrogen spectrum will be :

1) 2.5x10" m™ 2) 0.025x10*m™ |
(1) )

|
(3) 0.5x10"m™ @) 0.25x10"m™ |

If the velocity of a particle is v =At + Bt?>, where Aand | 122.

B are constants, then the distance travelled by it|
between 1s and 2s is

|

1 242 2) >A+4B |
1) 5+3 @ 3 |
37 |

(3) 3A+7B @ SA+SB |
|

The angle incidence for a ray of light at a refracting

surface of a prism is 45°. The angle of prism is 60°. If |
the ray suffers minimum deviation through the prism, |
the angle of minimum deviation and refractive index of |
the material of the prism respectively, are |

1 1
(1) 30;3 (2) 45 NG
3) 30°; 2

The molecules of a given mass of a gas have r.m.s.
velocity of 200 ms™ at 27°C and 1.0 x10° Nm™
pressure. When the temperature and pressure of the |
gas are respectively, 127°C and 0.05 x10° Nm?, the |

|
|
|
(4) 45°; 2 |
|
|
|

r.m.s. velocity of velocity of its molecules in ms™"is ; |
|

100
M = (2) 100 /2 |
|
400 10032 |
@ 5 @ = |

resonantes with a tuning fork when the smallest length |
of the column is 50 cm. The next larger length of the |
column resonating with the same tuning fork is: |

(1) 200cm (2) 66.7 cm

|

|

(38) 100cm (4) 150cm |
The magnetic susceptibility negative for |
(1) paramagnetic and ferromagnetic materials |
(2) diamagnetic material only |
(3) paramagnetic material only I
(4) ferromagnetic material only |
|

|

|

121.

123.

124.

126.

Rest foradie &1 a9 10" m™ fear = 2, ggse A
I P IR SN P 3ffqq e B =T e gl

(1) 2.5x10"m™ (2) 0.025x10*m™
(3) 0.5x10"m™ @) 0.25x10"m™

Ife foedl BT BT T v =At + Bt?, 2 I8 AT B Rerid
2, AT SHF U ERT 1s3R 28 & 19 =ell T g &

) 2.8 2) >A+4B

() 5+3 @ 3
3,7

(3) 3A+7B @) SA+3B

s & ol sruade gs R B warer fvor & forg
YA BIT BT AT 45° & | {5 BIT &7 A9 60° 8 | Afy
g fovor fired & ~gmam faafaa 8 &, O <gmaw e
PIT TAT fISH & Ugred BT SruadHid HHY: &

1 1
(1) 30;5 (2) 45 N
3) 30°; 2 4) 45°; 2

qTa 27°C oI 1.0x10° Nm =2 R fbit fT 77 gam= a1
A9 & 3Rl &7 o f AT e (rm.p.) 9T 200 ms™' ¥ |
S s MW @ 919 8fR qTd HHIE 127°C 3fiR
0.05x 10°Nm? &, Al ms™' # g9 i & 3ol &1 ot
AT {9 7

m 5 @ 100 3
400
® @ 102

Teh RN TR g oI TR RR R el Pl arg &= febedt
wRF gyl & AT I9 THY AR HRAT & 4 59 g
T B HH A B TS 50 I B 2 | 3 @R gt
@ 1T TS BR dTel] W Bl 3Tl g1 oTHTg -

(1) 200cm (2) 66.7 cm
(3) 100cm (4) 150 cm
FHDIY GUTTRd RUMHD Bl © -

(1) IIFEH AR Ae—grarg yarel & foy
(2) @daa ufagr@ uaref & foy
(3) act gD Uare & forg
4) dad dAle—gEaa uaref & foy

dDTarget PMT

Head Office : A-1/169, Main Najafgarh Road, Janakpuri, New Delhi-110058

Contact No : 011-41024601-05

E-mail : info@targetpmt.in

EXCLUSIVELY FOR MEDICAL ENTRANCE

Website : www.targetpmt.in

Page No#22




NEET-2016(PHASE-1)/Code#C,R, Y

Date : 01.05.2016

127. An electron of mass m and a photon have same energy

128.

129.

130. A npn transistor is connected in common emittet| 130.

131

E. The ratio of de-Brogli wavelengths associated with
them is:

1 1

1(2m 2 1( E )2

) ;[?j @ Z[Ej
1

E )2

@) [Ej

(c being velocity of light)

|
|
|
|
|
|
|
(4) c(2mE)"2 |
|
|

Abody of mass 1 kg begins to move under the action | 128.

S -
of a time dependent force F = (2ti + 3t2j) N, when iand |
. |
J are unit vectors along x and y axis. What power will |
be developed by the force at the time t ?
(1) (2t3+ 35w 2) (2t?+3t)w
(3) (2t*+ 4thw @) (2t +3thw

The charge flowing through a resistance R varies with | 129,

|

|

|

|

time t as Q = at-bt?, where a and b are positive:
constants. The total heat produced in R is : |
|

|

|

|

|

a’R a’R
O = @ 6
a’R a’R
9 S TS

configuration in a given amplifier. A load resistance of
800 Q2 is connected in the collector circuit and the voltage
drop acrossiitis 0.8 V. If the current amplification factor
is 0.96 and the input resistance of the circuit is 192Q, |
the voltage gain and the power gain of the amplifier will |
respectively be : |

(1) 4,3.69 ) 4,3.84 I
(3) 3.69, 3.84 @) 4,4

a piece of ice falls from a height h so that it melts | 131

completely. Only one-quarter of the heat produced is |
absorbed by the ice and all energy of ice gets converted |
in to heat during its fall. The value of his : |
[Latent heat of ice is 3.4 x 10° J/Kg and g = 10 N/kg] |
(1) 68km (2) 34km

|
|
(3) 544km (4) 136km I
|
|
|

127. STHAE m & Soidei= AT fhsdl BIeE & iy E Uhaa

2| 3T Heg < grell a¥iTasdl &l U ©

1 1
1(2m)2 1( E )2
UIRES @ )
1
E )2
@ (5
(TEF ¢ UBI BT I )
1 kg AT &1 H1g fYvg fodfy @wrafya s
ﬁ:(zt{+3tzj)N,a€T’ P e i, x ek y e @ arfRe
AEG AT §, B 3NN TT MR Bl &, O 9T t )
39 9o g1 fasf¥a orfed @ar gnft 2
(1) (2t3+3t°)W 2) (2t?+3t)w
(3) (2t + 4thw @) (2t +3thw
3t mfoRer R & arfad *1mder & 98y t & e faaRor

Q=at-bt? & &7 H BIAT B, ST&f a dAT b &HHS fFradie
21 R ST @A S

4) c(2mE)"2

a3R a3R
(1) o @) ob
a3R a3R
3) ETS 4) Y

0 fow 17 yaefd # 15 npn SitRer SWafs Scasid
fa=ma § FafT 8 1 800 Q Bl B ol R HUTEH
gRuer § IR & 3R 50 RIRI 1R 0.8 V favaurd 2 |
gfe GgRT yaee quie 0.96 8| o uRue & fder
IR 192Q % | A1 3% Waeich &1 diecdl iy T Ifdd
fer swer: grf:

(1) 4,3.69 (2) 4,3.84

(3) 3.69, 3.84 @) 4,4

B Bl Pl SHST Hals h A 39 YHR e € & 98 gora:
frereT ST © | SU= 814 dTell ST BT hadd U —arqTs
AT 8 % gRT AT fHAT SIAT 8 AT 9% ) T
Soll 3P R THI &1 H wUr=aRd 8 ol 2 | afe 9%
BT T[T ST 3.4 x 10° J/Kg T2m g = 10 N/kg &, 1 Sa1g
h ! 79 ® :
(1) 68 km
(3) 544 km

) 34km
(4) 136km
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132. A square loop ABCD carrying a current i, is placed| 132. PIS THR g () ABCD ST &1_T i, T2 BT

133.

134.

135.

near and coplanar with a long straight conductor XY|
carrying a current I, the net force on the loop will be :

Y B Cc

|
|
|
|
|
|
|
|
X A D I
|
|
|
|
|
|
|

> :
L/2 L
M 5 @ =5
@) So @ 3

A uniform rope of length L and mass m, hangs vertically | 133,

from a rigid support. A block of mass m, is attached to |
the free end of the rope. A transverse pulse of wavelength |
A, is produced at the lower end of the rope. The
wavelength of the pulse when it reaches the top of the
rope is A,. The ratio A,/2, is

|
|
m m m |
)
|

m; +m, my
@ \"my @ I

Ablock body is at a temperature of 5760 K. The energy | 134.

of radiation emitted by the body at wavelength 250 nm
is U, at wavelength 500 nmis U, and that at 1000 nm
is U;. Wien's constant, b = 2.88 x 10° nmK. Which of|
the following is correct ?
(1 U,>U,

3) U;=0

@ U,=0

|
|
4) U,>U, I

Out of the following options which one can be used t0| 135.

produce a propagating electromagnetic wave ?

(1) An accelerating charge

(2) A charge moving at constant velocity
(4) A chargeless particle

|

|

) |
(3) A stationary charge I
) |

|

|

foel o A A1t XY R oRT [ Yarfed 81 % 8 &
fdc th & T § @1 2 | 39 U WR I aTel A 9o
BN :

X A D
Kk—>t |

L/2 L
(N = @ —
@ S @) —5-

TH m, JT oTTg L BIg T | ¥l fH Al g3
TP W FEER AChH] © | 39 R b Jad R A geg91H
m,, BT BT T T & | TR B Faa R R TR A,
BT DTS AU W< I~ BT o1l 2 | A 3=l & o
TP Iga W 39 W< B T LA, 8 SRl 8| 79
U A, & T AT &

m1+m2 ﬂ
Ol @ |
m1+m2 m,
@ | @ |

BIs VST 5760 K a0 R & | 39 v g1 Iaffa
fafeb=oll @1 off, TRTeEd 250 nm wR U, d=Te=d 500 nm
W U, @1 a¥ireed 1000 nm @R U, 8 | -,

b=2.88 x 10° nmK 2 | <01 faar a1 &= a1 Heer ey 27
1) U,>U, 2 U,=0

3) U;=0 4 uU,>U,

I fau Ty faeeul ¥ 9 fder ST ve waRa fagd
FRIBII T IqH B H fhar S1 |wapar 27

(1) @IS @R aaer

() a9 | TfHE DI Smaw
(3) Rer amawr

(4) SITRIE BT
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136.

137.

138.

139.

140.

(CHEMISTRY

| 136, Pt el § & P T SR & Tl 27

Which one of the following characteristics is associated

with adsorption ?

AG and AS are negative but AH is positive
AG is negative but AH and AS are positive
AG, AH and AS all are negative

AG and AH are negative but AS is positive

The pressure of H, required to make the potential of| 137

H,-electrode zero in pure water at 298 Kiis :
(1)
(3)

The addition of a catalyst during a chemical reaction

107 atm 2) 107 atm

1072 atm @) 107 atm

alters which of the following quantities ?
(1) Activation energy
(3)
For the following reaction :

(8) CH,CH,CH,Br+KOH — CH,CH=CH, + KBr+H,0

(b) HsiC CHs HsC
Y + KOH —

Br
Br
0 (e (X
Br

Which of the following statements is correct ?

(2) Entropy

Internal energy (4) Enthalpy

CH;,
+ KBr
OH

(a) is substitution, (b) and (c) are addition reactions.
(a) and (b) are elimination reactions and (c) is
addition reaction.

(a) is elimination, (b) is substitution and (c) is
addition reaction.

(4) (a)iselimination, (b) and (c) are substitution

reaction.

1

1

38.
39

The product formed by the reaction of an aldehyde with | 140.

aprimary amineis :
(1) Aromatic acid

)

(2) Schiff base

Ketone (4) Carboxylic acid

(1) AG TAT AS FUTHE offds T AH &-TcHS BT B |
(2) AG FOTHE ifhd AH Td AS €T 8 2 |

(3) AG, AH Td AS 41 FoTTeH® &1d ® |

(4) AG UG AH 0T aifthT AS TS BIdT 2 |

298 KW g ol ¥ H, gciacls &l fawd I or &

ford amawad H, &1 219 2 |

(1) 10™*atm 2) 107 atm

3)
fooedt Yt afafshar & SSR® & anT & fa=fealRad #
I B A qrET gl B

1072 atm @) 107" atm

(1) <afshaor St (2) TSI
(3) R it (4) ey
. o= arfafranant & fory

(8) CH,CH,CH,Br+KOH — CH,CH=CH, + KBr+H,0

(b) HsC CH, H,C CHs
3 Y + KOH — Y + KBr
Br OH
Br
© O B, C[
Br
=1 & 9 P19 A1 U I 82
(a) ufaRemH, (b) 3R (c) AFTST rfAfhamd 2 |
(a) 3R (b) fIeiH= STffehamg & e (c) AT Siffhan 2 |

(a) faeta= rfafrar, (b) ufeseras sifafhan oiik
(c) AT 3rfafgrar B |

(4) (a) facirT sifafban, (b) IR (c) freena sifafban 2
Yfeserse vd werfhe W @ sififdar & 9 Saure B |
(1) Wafes s
(3) e

(2) R &
(4) wraifaaferd st
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141. The correct statement regarding the basicity ofI 141. We0dA & &NGdl B o 98 HUH 28:

142

143.

144.

arylamines is :

(1) Arylamines are generally more basic than |
alkylamines, because the nitrogen atom in |
arylamines is sp-hybridized. |

(2) Arylamines are generally less basic than |
alkylamines because the nitrogen lone pair |
electrons are delocalized by interaction with the I
aromatic ring © electrons system. |

(3) Arylamines are generally more basic than |
alkylamines because the nitrogen lone pair |
electrons are not delocalized by interaction with |
the aromatic ring & electron system. |

(4) Arylamines are generally more basic than |

alkylamines because of aryl group |

Equal moles of hydrogen and oxygen gases are placed | 142,

in a container with a pin-hole through which both can |
escape. What fraction of the oxygen escapes in the |
time required for one-half of the hydrogen to escape ? |
(1) 112 @ 18 |

@) 14 @ 38 :

The correct statement regarding the comparison of | 143.

staggered and eclipsed conformations of ethane, is:

(1) The staggered conformation of ethane is more I
stable than eclipsed conformation, because |
staggered conformation has no torsional strain. |

(2) The staggered conformation of ethane is less stable |
than eclipsed conformation, because staggered |
conformation has torsional strain. |

(3) The eclipsed conformation of ethane is more stable |
than staggered conformation, because eclipsed |
conformation has no torsional strain. |

(4) The eclipsed conformation of ethane is more stable |
than staggered conformation even though the |
eclipsed conformation has torsional strain. |

In which of the following options the order of arrangement | 144.

does not agree with the variation of property indicated |
against it ? |

(1) Li < Na < K < Rb (increasing metallic radius) I
(2) AI** < Mg®* < Na* < F~ (increasing ionic size) |
(3) B<C <N <O (increasing first ionization enthalpy) |
(4) 1 < Br < Cl < F (increasing electron gain enthalpy) |

(1) W A UfehardHE o RITeT &R §
FiIH WA H TSSO 7 WA sp-HHRT 2 |
(2) VWITUHE ARG VehalUHI| | $H &R § alfd

AECIS & THhID! M Solde ™ WRHCH Ioid & 1

SR & ATy favenfiad 81 2 |
(3) WIAVHE AMTId: UfehalUia ¥ SATaT &R il

2| NP ARG & UDHIHI-gTH gelagi= WHCH

I & ngaSd & e favenfaad T8 B 2 |

@) VR g & RO WA AETId: Yfeharyde
A STET &R 2 |

gIgSIolT U4 SISl 91 & THTE HIdT Bl U g+ H

@1 AT 2 | S 6 g o @ gRT Uelee 9R 9ad ¢ |

BSOSO ® MY UARIA H o A9 | SRS bl foha

3FT YARI BT |2

(1) 172 (2) 1/8

(3) 1/4 (4) 3/8

QI & AIART GG TR AU Bl G & o1 el P

T

(1) T BT HARd TR, T HHU 3 31ferd =R 8
Fifds |iaRa dwuer # Yo ara (RIET e 72
gl

(2) T HT AART AR, IR HHIT F HH I B
Fif FaRT Fwaer § Vo a9a (\RIET faax)? |

(3) T P I FHUYT, FART H® U7 I 37 Y
2 s T FwuoT H§ Vo a9a (FRIST fageh) =&t
gl

(4) TIF BT UK HHUY, FART HHUUT H 1IN B
STafs IR AHYT # Yo a1 (\RIET faai? |

ffoled # & o &1 B9 A W o & aRads @

AR HeHd el 87

(1) Li < Na <K < Rb (deiT g @rfcads <)

(2) A¥* < Mg < Na* < F~ (dgd g3 3T MHTR)
(3) B < C <N <O (T §3AT UAH AT TreT)
(4)

4)1 <Br< Cl <F (3gl g8 Sclag ™ e i)
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|
145. The rate of a first-order reaction is 0.04 mol ¢! s at | 145

146.

147.

148.

149.

150.

10 seconds and 0.03 mol ¢! s at 20 seconds after |
initiation of the reaction. The half-life period of ’[he|

reaction is :
(1) 54.1s
(3) 34.1s

When copper is heated with conc. HNO, it produces : | 146.

(1) Cu(NO,),and N,0

2) 24.1s
4) 441s

(2) Cu(NO,),andNO,

(3) Cu(NO,),andNO  (4) Cu(NO,),,NOandNO, I

In a protein molecule various amino acids are linked | 147.

together by :

(1) dative bond

(2) oa-glycosidic bond
(3) B-glycosidic bond
(4) peptide bond

Fog is a Colloidal solution of :

(1) Gasin gas

(2) Liquidingas

148.

. & U BIfe o) rfwfsar &1 a7 ifafhar urRe1 89 &

10 sec a1 0.04 mol ¢! s7" g 20 sec &€ 0.03 mol
¢l s71R | 3 SrfafhaT @ o QMY el B

(1) 54.1s 2) 24.1s

3) 34.1s 4) 44.1s

HIIR B A5 HNO, & ATl TH R+ TR Il o—

(1) Cu(NO,),@aTN,O (2) Cu(NO,),TTNO,

(3) Cu(NO,),@aTNO  (4) Cu(NO,),, NOT=TNO,
T 7] F R VAT ot U TR W 98 T8 2
(1) <IaT ey & gRT

2) o--TAEDHINIEEH MG & gRT

(3) P-ASHIIEH 3T & FRT

(4) UCIES M€ & gRT

(38) Gasinliquid (4) Solidin gas

Match items of Column | with the items of Column Il
and assign the correct code :

(@)
(b)

(c)

(d)

Column |

Cyanide process (i)

Froth floatation
process
Electrolytic

reduction

Zone refining

Column 1l
Ultrapure Ge
(ii) Dressing of Zns

(iii) Extraction of Al

(iv) Extraction of Au

(v) Purification of Ni

Code:
(a)
1) (iii)

(b) (¢) (d)

iv) ) ()

2)
3)

(
(
(
)

Which one given below is a non-reducing sugar ?

(™
@)
3)
)

i
i)
iii)

iv)
(if)
(i)

i)
i
i)

iv)
(if) (i)
(it} (

(if) (i

Sucrose
Maltose
Lactose

Glucose

i
(i)
v)

iv)

150.

¢ BleigS faer 28—
(1) ™ H A B () AT H
() saH A @ 4) ™ ¥ 3N B
. T | ® Seord B W Il & Soord 3 fer) e dad
REAR I
NaH | Al
(@) WITSS UhH (i) afaygeyGe
(b) 7 e (i) Zns BT YA
fafer
(c) faega amae (iii) Al &1 frepsor
S EDE]
(d) Hea URSHRor (iv) Au BT fspyor
(v) Ni @1 2
s :
@ () () (d)
(1) (i) @) &) 0
2 (v) (i) (i) @)
@) (@) (i) @ v
@) @ (i) (i) ()
7 o ¥ B U IR R 27
(1) g
(2) #Aree™
(3) <N
(@) g
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NEET-2016(PHASE-1)/Code#CR,Y

151. The correct statement regarding RNA and DNA, | 151. RNA @21 DNA & ol 981 B AT 8—

respectively is :
™

The sugar component in RNA is 2'-deoxyribose
and the sugar component in DNA is arabinose.

the sugar component in DNA is 2'-deoxyribose.
The sugar component in RNA is ribose and the
sugar component in DNA is 2'-deoxyribose.

The sugar component in RNA is arabinose and

|
|
|
|
|
The sugar component in RNA is arabinose and I
|
|
|
|
|
the sugar component in DNA is ribose. |

(1) RNAH o131 ged 2'-fSaifriRrsar ik DNA #

I[hRT T IR 2 |

(2) RNA # o171 gedh 3RfIAT & 3R DNA H Ird<1
ged 2'-f SRR B |

(3) RNA ¥ IM@x1 Tedh a4 © IR DNA # 9131 9edh
2RI 2 |

(4) RNA # o171 ged 3RfIAT & 3R DNA H ord<1
e XA B |

152. The correct thermodynamic conditions for the| 152. il €rdT W ¥ad: 3fAfhar & forg e SHMdHIT o1 8—

153.

154.

155.

spontaneous reaction at all temperatures is:

(1) AH<0andAS<0

(20 AH<0andAS=0

3) AH>0andAS<0

(4) AH<0andAS>0

Which is the correct statement for the given acids?
(1) Phosphinic acid is a diprotic acid while phosphonic
acid is a monoprotic acid.

(2) Phosphinic acid is a monoprotic acid while
phosphonic acid is a diprotic acid.

(3)
4)
MY and NY ,, two nearly insoluble salts, have the same |
KSp values of 6.2 x 10" at room temperature, which |
statements would be true in regard to MY and NY,? |
(1) The addition of the salt of KY to solution of MY
and NY, will have no effect on their solubilities.
The molar solubilities of MY and NY , in water are
identical.

The molar solubility of MY in water is less than
that of NY.

The salts MY and NY, are more soluble in 0.5 M
KY than in pure water.

Which of the following in an analgesic?

(1)
)

Both are diprotic acids.

Both are triprotic acids

Chloromycetin

|
|
|
|
|
|
|
|
|
|
(2) Novalgin |
|

Penicillin (4) Streptomycin

153.

154.

155.

156. The pair of electron in the given carbanion,|156_

CH,C= c®,is present in which of the following orbitals? |
(1) sp @ 2p |

(3) sp’ 4) sp |
|

1) AH<O0TATAS<O0

(1)

(2) AH<0@TAS=0
(3) AH>0@TAS <0
(4) AH<0@TAS >0

faferRaa # | diFar wod & T sl & ford |l €7
(1) BiR®H® et fgurdt et 8 Safdh BivhIa 3rd
THUTST 37T ¢ |

(2) BIRBMEG 3t THUICT el & STdfh HIRBIFS 3T
faurey aret 2 |

(3) <l fguwRl a7 B |

@) <FT e 3T B

MY T& NY,,, & ST 3Afdeld daull BT HHR & 19 W)

K, T A1 6.2 x 107" yehrer 8| et # &1 i a1
BT MY Td NY, & deof o 9 27

(1)

KY &aur &1 MY vd NY, & e & ST W g
facoraar W B ywTg & Tsar 2 |

MY ©d NY, &1 S 3 Her ferar w8 © |
MY & Sief # Aok e NY, 9 &9 2 |

MY Td NY, & a0 g€ el 61 el 3 0.5 M KY
# e fae B

= # 9 9 a1 U U ' ?

(1) FARMAH (2) e

(3) uffaferm @) wemsRE

f&31 T wrd—omaT CH,C= C®, & g goiagfe foe
3 g were § SuRerd 27

(1) sp ) 2p

(3) sp’ (4) sp®
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157. Among the following, the correct order of acidity is :
(1) HCIO, <HCIO, <HCIO <HCIO,
(2) HCIO,<HCIO, <HCIO,<HCIO
(3) HCIO <HCIO, <HCIO, <HCIO,
(4) HCIO, <HCIO <HCIO, <HCIO,

Which one of the following statements is correct when | 158
S0, is passed through acidified K,Cr,O, solution?

(1) Green Cr,(SO,), is formed.

(2) The solution turns blue

158.

159.

160.

161.

162.

163.

(3) The solution is decolourized.

(4) SO, isreduced.

Predict the correct order among the following :

(1) lone pair—bond pair > bond pair —bond pair
> lone pair —lone pair

(2) lone pair—lone pair > lone pair — bond pair >
bond pair — bond pair

(3) lone pair—lone pair > bond pair — bond pair >
lone pair — bond pair

(4) bond pair—bond pair > lone pair — bond pair >
lone pair—lone pair

Two electrons occupying the same orbital are 160.

distinguished by :

(1) Spin quantum number
(2) Principal quantum number
(38) Magnetic quantum number

(4) Azimuthal quantum number
The product obtained as a result of a reaction of nitrogen | 161.

with CaC, is :
(1)Ca,CN
(3)CaCN

Natural rubber has :

(2) Ca(CN),
(4)CaCN,

(1) Random cis — and trans.configuration

(2) All cis—configuration

(3) All trans—configuration

(4) Alternate cis — and trans.configuration

dissociation enthalpy of halogen molecules?

(1) F,>Cl,>Br,>1,
2
(3
(4

) 1,>Br,>Cl,>F,
) Cl,>Br,>F,>1,
)

Br,>1,>F,>Cl,

|
|
|
|
|
|
|
|
|
|
Which one of the following orders is correct for the bond |
|
|
|
|
|
|
|

157. =1 & 3 sreetar &1 UE) $H © —

(1) HCIO, <HCIO, <HCIO <HCIO,

2) HCIO, <HCIO, <HCIO, <HCIO

3) HCIO <HCIO, <HCIO, <HCIO,

) HCIO, <HCIO < HCIO, < HCIO,

FAfRae # X1 I B2 el €, 519 SO, Bl iy

K,Cr,0, @ fderas # 31 urs fbar Sirar &7

(1) 7 Cr(SO,), a7 2 |

) faema e us & T 2 |

() e IR T @I & |

(4) SO, U= B 2 |

=1 4 & |8l w9 B8R —

(1) T I — araefl 7 > aeell g — rmeiet 7 >
UhTD! JTH — Uhldl JH

(2) UBID! T — YebTdbl TH > TebTeh! 7o — JATaedl e >
JATET T — afTeell g

(3) UBID! GH — Ublh! YT > 3Teell Y — 3Teell I >
UehTdh! JiH — 3fTaell g

(4) rdel g — el g > Uehlh! g — JfTeEl g >
UhTD! JTH — Uhldl I

qT gordgid Sl fb Uep &) Pt H 2 | 394 3R fbhds gRT

fopar ST Adar 2?

(1) YUl FAiCH A

(2) T FdicH He

(3) DY FEicH HRAl

@) ferefa gaien G

SIS 9 BT CaC, & AT JAfHAT & el IS & —

(
(

=

(1)Ca,CN (2) Ca(CN),
(3) CaCN (4)CaCN,
UTpfcd aR H —

(1) afrafad Ry — vd g g |

2) i Reg—fa=am 21

() W gI-fa=mT 7|

() woprR Rie—yd gha—famre 2 |

freaferRad & &1 @I A Bellor U3l &l e faaror
T & ford w27

(1) F,>Cl,>Br,>1,

) 1,>Br,>Cl,>F,

@) Cl,>Br,>F,>1,

4) Br,>I1,>F,>Cl,
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NEET-2016(PHASE-1)/Code#CR,Y

164.

E}O“ﬂ’

165.

166.

167.

168.

169.

The reaction :

can be classified as :
1
2
3)
(4)
Lithium has bcc structure. Its density is 530 kg m™
and its atomic mass is 6.94 g mol™'. Calculate the
edge length of a unit cell of Lithium metal.

(N, =6.02x 10® mol™)
(1) 264pm

(3) 352pm

Williamson alcohol synthesis reaction

Alcohol formation reaction

|

|

|

|

|

|

|

Williamson ether synthesis reaction I
|

Dehydration reaction |
|

|

|

|

|

|

(2) 154 pm
(4) 527 pm

|
The ionic radii of A" and B ions are 0.98 x 107" m and | 166.

1.81 x 107" m. The coordination number of each ion in |
AB is |

(1) 2 ) 6 |

3 4 @ 8 I

At 100° C the vapour pressure of a solution of 6.5 g of | 167.

a solute in 100 g water is 732 mm. If K = 0.52, the |
boiling point of this solution will be : |

(1) 103°C 2) 101°C :
(3) 100°C 4) 102°C |
The electronic configurations of Eu (Atomic No. 63) Gd I
(Atomic No. 64) and Tb (Atomic No. 65) are : |
(1) [Xel4f'6s? [Xe]4f'5d"'6s? and [Xe]4f°6s? |
(2) [Xe]af'6s? [Xel4f® 6s? and [Xe]4f® 5d'6s? |
(3) [Xel4f® 5d'6s? [Xe]4f” 5d'6s? and [Xe]4f° 5d"6s?

(4) [Xe]4f®5d'6s? [Xe]4f’ 5d'6s? and [Xe]4f® 5d"6s |

Which of the following statements about hydrogen is I 169.

incorrect ?
(1)
2)

Dihydrogen does not act as a reducing agent.

Hydrogen has three isotopes of which tritium is
the most common.

3)
)

Hydrogen never acts as cation in ionic salts.

Hydronium ion, H,O" exists freely in solution.

E}O“ﬂ’

Me
Me— /
E>70 p el 0

T i frar ST daar & —

(1) fafermae Uohlgel Heelyur JifAfhan
(2) faferara= $eR Averyor rfafear

(3) Vcdled faxas aififemar

4) fAstelaor srfafsar

ONON

. foIferm &) bbe TR=AT B | 39®T T 530 kg m™> oI

ORHATY] ST 6.94 g mol™'? fafdrm o1g & vae diftar
S PR B! 1S 8 | (N, = 6.02 x 10 mol™)

(1) 264 pm (2) 154 pm

(3) 352pm (4) 527 pm

A" Ud B~ 3mA B amafe freard s 0.98 x 10710
TG 1.81x 107" m 2 | AB # UF 3T &1 SUHEHAST
=T B

(1 2 2) 6

3) 4 4) 8

& 6.5 g fdera &1 100 g Siet # fdera &1 100° C R a1y
3@ 732mm g | A K, = 0.52 71 9 faderae &1 gaqeric
BT

(1) 103°C
(3) 100°C

2) 101°C
(4) 102°C

8. Eu (4¥. 63) Gd (49. 64) 3R Tb (44. 65) Seiagi®

ERIGEE

(1) [Xe]4f'6s? [Xe]4f'5d"6s% 31K [Xe]4f 6s>

(2) [Xelaf’6s?, [Xel4f® 62 iR [Xe]4f® 5d'6s?

(3) [Xel4f® 5d'6s? [Xe]4f” 5d'6s? 3R [Xe]4f® 5d'6s?

(4) [Xelaf® 5d'6s?, [Xe]4f’ 5d'6s? 3R [Xe]4f® 5d'6s?

fr=faRad & & BT B BTssioid & folv I © 7

(1) STSBIZIST 7 3MAR—IS & ©T H BRI T8 PRl © |

(2) BESNE & diF GRS & s 3 grsfeaH
TERAT H T

(3) EISSIoH AAH AUl H g &I AR AAER &l
PHRAT B |

) BISSITH 3, H,0" &1 Sk fderae # gad wu
# Bl B |
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170.

171.

172.

173.

174.

In the reaction 170, srfrfar
H-C = 1 (DNaNH, /lig. NH, (1) NaNH, / liq. NH, y| H_C = j—(WNaNH, /lig. NH, (DNaNH, /lig. NH;
(2) CH,CH,Br (2) CH,CH,Br | (2) CH,CH,Br (2) CH,CH,Br
Xand are: | X3RY &
() X=8ubne; y =2 Hexyne ) x= ey =2 beee
23; X= 2-thy:z - 3'H§§y22 | @ Xe TRy =8
R @) X= 2y = -
(4) X=2-Butyne;y=2-Hexyne | (4) X=2-[2Te |y = 2-BawTe
Consider the following liquid-vapour equilibrium. 1171, <= fod) TR €9 — qrT ETRITAReT
Liquid —— Vapour I g .Y
Which of the following relations is correct ? | ¥ A P O Ga e g ?
’ dinP _ AH, 2 dinG _ AH, : dinP  AH, dInG AH,
dT  RT? dr*  RT? | dT  RT2 T2 RT2
dinP _ —AH, dinP _ —AH, | dinP —AH dinP  —AH,
3) = @ 2 -2 | 3) =— =
dT ~ RT dT T dT ~ RT ar? 12

Which of the following statements about the| 472

composition of the vapour over an ideal 1 : 1 molar |

mixture of benzene and toluene is correct ? Assume

that the temperature is constant at 25°C. (Given, Vapour

Pressure Data at 25°C, Benzene = 12.8kPa,

toluene = 3.85kPa)

(1) Not enough information is given to make a
prediction.

(2) The vapour will contain a higher percentage of
benzene.

(3) The vapour will contain a higher percentage of
toluene.

(4) The vapour will contain equal amounts of benzene
and toluene.

Which of the following biphenyls is optically active

> O-Q)
4>“

=
O:O
T
w

Which of the following reagents would distinguish cis- | 174,

cyclopenta-1,2- diol from the trans-isomer ?

(1) Aluminium isopropoxide

(
(3) Ozone
(

|
|
|
2) Acetone |
|
4) MnO, I

173

di9 U4 Cfefsd & 1: 1 377a3 dAler s & are
Ao & ford fA=falRaa & & 19 |1 woH w27
BT PX b AIHM 25°C R Rer & | (e T 9w g9
25°C 9=5i = 12.8kPa, ez = 3.85kPa)

(1) oA 13T & PHROT PIs YA el IR ST
HHAT 2 |

(2) g H geoi B 3rfdd ufcrerdar gRh

(3) Aty # Sres @ 31y ufereraar grft

(4) A #§ A AT H i UG Slegd |

. = H e 3 arsfearae ueIlde afsha 27

CH;, O,N
&
CH;, |
Br Br

ﬁﬁﬁﬁaﬁﬁwaﬁwm—mﬁﬂ-tz-@?}sﬁa
Ud 39b <1 AT | HE BT 7

(1) YGRM sTgATEE S

(2) WieH

(3) 3=

4) MnO,
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175.

176.

177.

with a hydrogen atom on its alpha-carbon, is :

(1) acarbonyl compound with a hydrogen atom oniits |
alpha-carbon rapidly equilibrates with its |
corresponding enol and this processes is known |
as keto-enol tautomerism . |

(2) acarbonyl compound with a hydrogen atom on its |
alpha-carbon never equilibrates with its I
corresponding enol. |

(3) acarbonyl compound with a hydrogen atom oniits |
alpha-carbon rapidly equilibrates with its |
corresponding enol and this process is known as |
aldehyde-ketone equilibration. |

(4) acarbonyl compound with a hydrogen atom on its |
alpha-carbon rapidly equilibrates with its I
corresponding enol and this process is known a |
carbonylation. |

The correct statement regarding a carbonyl compound I
|

Consider the molecules CH,, NH; and H,0. Which of | 476

the given statement is false ?

(1) The H-C-Hbond angle is CH, is larger than the |
H.N.H bond angle is NH, |

(2) The H-C-H bond angle is CH, the H.N.H bond I
angle in NH, and the H.O.H bond angle in H,O are |
all greater than 90°. |

(3) Then H-O-Hbond angle in H,O is larger than the |
H-C—Hbond angle in CH, |

(4) The H-O-H bond angle in H,O is smaller than the |
H-N-H bond angle in NH, |

Match the compound given in column | with theI 177.

hybridization and shape given in column Il and mark |
the correct option. |

Column-l Column-Il I
(@) XeFg (i) distorted octahedral |
(b) XeO, (i) square planar |
(c) XeOF, (i) pyramidal I
(d) XeF, (v) square pyramidal |
Code: |

(@ (6 © (@ I
(1 @) @) (i) (i) |
@ @) (i) Gv) (i) |
@ O @) o (i |
@ ™ i) O G :

|

175. FEifAd AfTE RNFH o BT R BTesio SURYd 8, &

forg & doF ® -

(1) raire S [T o BT WR BT 7 URAT]
TURLIT &, TB 77 STTHY SHTcl H AT AR
T BT € 3R U8 UshH fohei—sHiol delauddl daeld)
gl

(2) PrEiTe S [T o BT UR BTSN 7 URAT]
IR €, T8 770 AU Sl | HAT Al AraraRen
H T8 B © |

(3) PRI WD o—BET TR BTgSIo URATY IURLIT
2, T 79 U Al H AT I AR H Bl
2 3R I8 UspH UfcseIss—dIcH ATRITaRIT B lTd]
gl

(4) PEIMTS ARTD DT o-Ble BTSSIST 7 URATY] IR
2, I8 $19 ITHU SHTeT A S A AR # 8l
2 3R I8 UhH PHIEI-TelidR 0T HEeTal & .

CH,, NH, 3R H,O 3ot & ford et fel 1 sporsii 3

DI AT A B ?

(1) CH,® H-C—H 3mder @1vT, NH, % H-N—H 3fder &ior
KEICERd

(2) CH,# H-C—H afee IvT, NH, % H-N-H 31aer sror
I H,O # H-O—H 31raier ior, Wil 3 90° 31 31fep 2 |

(3) H,O ¥ H-O—H 31aer &ivT, CH, # H-C—H 3ireier ot
3 31 §

(4) H,O ¥ H-O-H 3ir&r &ivT, NH, § H-N—H afrdei—bror
RS

T | ¥ 3y T AT BT Sd IHR0T Ud MHR Ol fh

aud Il # 3 T € 31 e der |8 fdeey &1 fafeq

BT |

N | xaH e |l
(@) XeF (i) fOPd ICHADB
(b) XeO, (i) v FHTe
(c) XeOF, (iii) RS
(d) XeF, (iv) af Rt
Bls:

@ () (c) (d)
(1 v) @) (i) (i)
2 @ (i) @v) (i)
@) @ (i) @) (i)
@) (v) (i) @) (i)
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178. Consider the nitration of benzene using mixed conc. | 178. SS9 BT ASEIBRYT Ag H,SO, Td HNO, @1 SuRerfd 4

179.

180. Which of the following has longest C—O bond length ? | 180.

H,SO, and HNO,. If alarger amount of KHSO, is added |
to the mixture the rate of nitration will be : |
(1) doubled (2) faster |
(3) slower (4) unchanged I
Which of the following statement is false ? |
(1) Mg?*" ions are important in the green parts of |
plants. I
|
|
|
|
|

Mg?* ions from a complex with ATP.

S

Ca?" ions are important in blood clotting.

—
w
=

Ca?"ions are not important in maintaining the

S

regular beating of the heart.

(Free C.O bond length in CO is 1.128A)
(1) [Mn(CO)J" (2) Ni(CO),
(3) [Co(CO),]° (4) [Fe(CO),>

|

|

|

|

|
Q o a

81 381 2 | afe 5 fRsror # et A # KHSO, STerd 8
Y ATSLIDBROT BT I E1T:

(1) g (2) <
3) R (4) smRaffa
ferforRad § I 19 a1 B NIy 87

(1) Mg? s et & eRa W & ford Ageagof 2 |
2) Mg* 3mae T & ATl Aot I T |

(3) Ca* 3ma T & Tl Fezel I 2 |

(4) Ca?*md gsg i &I Fafid v@= 7 Agwaqel T8

gl

f=ferRad # 1 fgad! C—0 31mae oTg fdrhaH 87
(Fa C-O a1rde or=1s CO H1.128A 7 )

(1) [Mn(CO)J* (2) Ni(CO),

(3) [Co(CO),I® (4) [Fe(CO),*
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